GENERAL: STRUCTURAL STEEL NOTES: SLAB ON GRADE DESIGN
THE STRUCTURAL DRANINGS SHALLE USEDIN CONJUNCTION WITs T NOTES: PARAMETERS:

CONTRACTOR SHALL VERIFY THE REQUIREMENTS OF OTHER TRADES AS TO MANUAL, 13TH EDITION, WELDING SHALL CONFORM TO THE LATEST AWS AND AISC SPECIFICATIONS.

INSERTS, ANCHORS, SLEEVES, AND OTHER ITEMS TO BE PLACED OR SET IN

THE STRUCTURAL WORK. 2. WORKMANSHIP SHALL BE IN ACCORDANCE WITH THE BEST PRACTICE AND WITHIN THE TOLERANCES GENERAL PARAMETERS:
SPECIFIED IN THE AISC SPECIFICATIONS FOR STRUCTURAL STEEL. SLAB CONSTRUCTION REFER TO S1/2 DETAIL

THE CONTRACTOR SHALL BE RESPONSIBLE FOR COMPLYING WITH ALL THE DESIGN FORCES LISTED ARE PER

SAFETY PRECAUTIONS AND REGULATIONS DURING THE WORK. 3 IT IS SPECIFICALLY NOTED THAT BURNED HOLES ARE NOT ACCEPTABLE UNLESS SPECIAL MAXIMUM SLUMP FOR CONCRETE SLABS WILL BE 5" WITH TYPE Il CEMENT 2023 FLORIDA BUILDING CODE (FBC.23) ASCE 716
THE CONTRACTOR SHALL BE RESPONSIBLE TO CONFIRM ALL THE FIELD DIMENSIONS PERMISSION IS GIVEN BY ENGINEER.
ANY UNUSUAL CONSTRUCTION CONDITION THAT JEOPARDIZE SAFETY OF LABOR AND/OR PUBLIC, ALL WELDED WIRE FABRIC SHALL BE IN ACCORDANCE WITH ASTM A-185. LAP ADJOINING PIECES LOADS: DEAD LOAD (DL LIVE LOAD (LL
CONTRACTOR SHALL CONTACT ENGINEER IMMEDIATELY BEFORE PROGRESS, IN CASE OF 4. ALL SHOP FABRICATED WORK SHALL BE DONE IN A SHOP APPROVED BY THE GOVERNING AGENCY. AT LEAST ONE FULL MESH. WELDED WIRE FABRIC SHALL BE ORDERED IN SHEETS, NOT ROLLS. WAL 45 PSF (DL) (LL)
AT THE TIME AND/OR IN FUTURE OR IN CASE OF THE DISCREPANCIES IN THE PROJECT. FABRICATOR SHALL SUBMIT PROGRAM OF WELDING INSPECTION TO ENGINEER FOR APPROVAL. WELDED WIRE FABRIC SHALL BE BLOCKED INTO POSITION WITH PRECAST CONCRETE BLOCKS ROGE: o0 PSF 20 PSF
SPECIFIED MATERIALS AND FASTENERS ARE ALLOWABLE TO BE SUBSTITUTED HAVING THE SAME COMPRESSIVE STRENGTH OF THE SLAB. ELOOR: 15 PSF 40 PSF
WITH EQUAL GREATER SPECIFICATION. 5. ALL STRUCTURAL STEEL SHALL BE AS FOLLOWS UNO: '
THE ALTERNATE WIRES OF THE WELDED WIRE FABRIC MUST BE PRECUT AT THE SLAB _
ALL WF. WT SHAPES: A992 GRADE 50 CONTRACTION JOINT LOCATIONS TO CREATE A "WEAKENED PLANE". WIND DESIGN BASIS:
CONNECTION PL & MISC STEEL (UNO): ASTM A36 BASIC WIND SPEED.......ooeeoeeeeeeeeeeeeeeeeeeeeeeee s 150 MPH

THE USE OF POLYPROPYLENE FIBERS (IN LIEU OF WELDED WIRE FABRIC) IS PROHIBITED.

GUSSET & COLLECTOR PLATES: ASTM A572 GRADE 50 IMPORTANCE FACTOR l.oeeeeeeeeeeeeeeeeeeeeeee, 1.0
L D _ F R M E D I E E L PIPE COLUMNS (TYPE S, SEAMLESS): ASTM A53 GRADE B . RISK CATEGORY o I
STRUCTURAL TUBING: ASTM A500 GRADE B ALL POROUS FILL MATERIAL SHALL BE A CLEAN GRANULAR FILL MATERIAL WITH 100% PASSING WIND EXPLOSURE D

ANGLE, CHANNELS: ASTM A36 THE 1 V2" SIEVE AND NO MORE THAN 5% PASSING THE NO. 4 SIEVE. POROUS FILLSHALLBE ~ WIND EXPLOSURE. ..o
THREADED ROD- ASTM A36 COMPACTED TO 98% MAX DRY DENSITY PER ASTM D-1557 MODIFIED PROCTOR METHOD. SNOW LOAD (DESIGN SNOW LOAD)....o0...ccce 0 psf
- HEADED SHEAR STUDS: ASTM A108,
i GRADES 1015 TO 1020, SLAB JOINTS SHALL BE FILLED WITH A SEALANT PER THE MANUFACTURER RECOMMENDATIONS.

SEISMIC DESIGN BASIS:

TYPE 316, 50 ksi
SLABS EXPOSED TO WEATHER SHALL BE AIR ENTRAINED TO 5% (+1%) WITH AN ADMIXTURE THAT

IMPORTANCE FACTOR | ...cocccoevsrrsirescnsnen 1.0
ELECTRODES: a) E7T0XX FOR A36 CONFORMS TO ASTM C-260. SITE CLASS.....coovrrrresieeernsssessisssssnsssssseesssessssnn B

1. ALL COLD FORMED STEEL STUDS, JOIST, TRACK & MISC. SHAPES b) FOR OTHER STEEL THE SLAB SHALL BE WET CURED BY KEEPING THE SLAB MOIST FOR A PERIOD OF SEVEN DAYS. S8t 07
MILL CERTIFIED STEEL TO MEET: GRADES USE MATCHING WELD METAL AND ALTERNATIVELY, PROVIDE A WET-CURING SEALANT PER THE MANUFACTURERS S 0026

A. ASTM A1003 ST GRADE 50, TYPE H 18-97 mil GALV. STEEL PROCESSES RECOMMENDATIONS. S 0
2. ALL STEEL STUDS, JOIST & TRACK SHALL HAVE A LEGIBLE LABEL, STAMP OR 6. ALL HIGH STRENGTH BOLTS SHALL BE ASTM A325-N TYPE UNLESS WRAP VAPOR BARRIER AROUND FOOTING ACCORDING TO BUILDING SCIENCE BEST PRACTICE. DASIC SEISMIC FORCE-RESISTING SYSTEM.... B-2(ASCE 716 TABLE 12.2-1)
EI\ABOSSMENT7 AT A MAXIMUM OF 48" O.C.7 INDICATING THE MANUFACTURERIS OTHERW'SE NOTED. R -----------------------------------------------------------------------------
NAME, LOGO OR INITIALS, ICC EVALUATION SERVICE REPORT NUMBER, THE
MATERIAL BASE METAL THICKNESS (UNCOATED) IN .001 in. AND THE YIELD 7. ALL BOLTS USED FOR ERECTION SHALL BE ASTM A325 TYPE WITH THREADS EXCLUDED FROM SHEAR SOIL DATA:
STRENGTH IF DIFFERENT THAN 33 ksi. PLANES

' BEARING CAPACITY:

3. MILL CERTIFICATES FROM THE COIL PRODUCER SHALL BE MADE AVAILABLE IF 8. ALL PLAIN ANCHORS SHALL BE A36: ALL ANCHOR BOLTS SHALL COMPLY WITH ASTM F1554. 3" - - 2,000 PSF
REQUESTED. MILL CERTIFICATE TO INCLUDE AS A MINIMUM THE CHEMICAL MINIMUM CONGRETE COVER WILL BE PLAGED AROUND ALL ANCHOR BOLTS EXPOSED 10 THE BASED ON GEOTECH REPORT BY

COMPOSITION, YIELD STRENGTH, TENSILE STRENGTH, ELONGATION, AND COATING WEATHER. U.N.O. UNIVERSAL ENGINEERING SCIENCES, PROJECT #1110.2200387.0000,

THICKNESS. ( :O N ( : R E I E N O I E S . AUGUST 29 2022
9. WELDING MATERIALS: PROVIDE TYPE REQUIRED FOR MATERIALS BEING WELDED, PER AWS D1.1. . REGISTERED PROFESSIONAL ENGINEER - ALLAN G ABUBAKAKAR

4. SECTION PROPERTIES:
FLANGE / LEG WIDTH

(IN 11100 in) 10. PROVIDE CONTINUOUS INSPECTION FOR ALL FABRICATION AND
/ WELDING OF STRUCTURAL STEEL AS REQUIRED PER CODE REQUIREMENTS. CONCRETE MIXES SHALL BE DESIGNED PER ACI 301, USING PORTLAND ( : O D I /Al ' I H O R I I Y .
11. ALL COMPLETE PENETRATION GROOVE WELDS IN JOINTS AND SPLICES SHALL BE TESTED 100 CEMENT C?NFORM'NG TO ASTM C-150 OR C-595, AGGREGA_TE CO_NFORM'NG .
TO ASTM C-33, AND ADMIXTURES CONFORMING TO ASTM C-494, C-1017, C818,
5 50 S 1 50_ 54 PERCENT IN ACCORDANCE WITH IBC . USE ONE OF THE APPROVED METHODS OF TIGHTENING HIGH AND C-260. CONCRETE SHALL BE READY MIXED IN ACCORDANCE WITH ASTM
xTHIC.KNESS B _ STRENGTH BOLTS. C-04. ALL WORK SHALL COMPLY WITH THE FOLLOWING:
IN mils (1 mil = 1/1000 in) - 2021 INTERNATIONAL BUILDING CODE (IBC);
12. A WELDING SEQUENCE SHALL BE PLANNED TO MINIMIZE RESIDUAL . - 2023 FLORIDA BUILDING CODE (FBC);
MEMBER DEPTH SECTION TYPE: STRESSES AND DISTORTIONS OF INDIVIDUAL MEMBERS AND THE BUILDING RAME. ALL DETAILING, CONCRETE SHALL CONFORM TO THE FOLLOWING: - ASCE 7-22 MINIMUM DESIGN LOADS AND ASSOCIATED CRITERIA
(IN 1/100 in) FABRICATION, AND ERECTION SHALL COMPLY WITH AISC, LATEST EDITION. LOCATION MIN E'C FOR BUILDINGS AND OTHER STRUCTURES:
S=STUD OR JOIST SECTION FOUNDATION 3.500 PSI - AISC 341-16 SEISMIC PROVISIONS FOR STRUCTURAL STEEL BUILDINGS;
T= TRACK SECTIONS 13. UNLESS OTHERWISE NOTED, ALL STIFFENER PLATES ARE 3/8" THICK SLAB ON GRADE 3500 PS - AISC 360-16 SPECIFICATION FOR STRUCTURAL STEEL BUILDINGS:
U=CHANNEL SECTIONS MINIMUM AND ALL BUTT WELDS ARE FULL PENETRATION WELDS. ERECTION CLIPS, TEMPORARY ’ -ASW D 1.3 STRUCTURAL WELDING CODE - SHEET STEEL;
F=FURRING CHANNELS SECTIONS BRACING, ETC., REQUIRED BY THE CONTRACTOR ARE NOT SHOWN. REINFORCING STEEL. INCLUDING HOOKS AND BENDS. SHALL BE DETAILED IN - ACI 318-19 BUILDING CODE REQUIREMENTS FOR STRUCTURAL CONCRETE:
Z=ZEE SECTIONS ’ ’
14. ALL STRUCTURAL STEEL SHALL BE PAINTED WITH ONE SHOP COAT OF ZINC CHROMATE PRIMER OR égﬁgm%%NU%EsﬁEﬂABg SA?,‘P%LD"VF\Q,FT'HFAOE\?F',E% 2;EFCLE'T'J%'E€STSE(D)¢,§E%EV'“§E
*THIS PROJECT WILL BE BUILD USING EQUAL. AFTER ERECTION, FIELD CONNECTIONS SHALL BE TOUCHED UP. DO NOT PAINT PORTION OF NOTED
FRAMECAD ® MACHINERY FOR AUTOMATIVE CFS STEEL TO BE EMBEDDED IN CONCRETE, HEADED ANCHOR STUDS, FAYING SURFACES OR AREAS TO : S H E ET LlST
CHANNELS PRODUCTION. THUS, T-SECTION IS RECEIVE FIRE PROOFING. EXTERIOR, EXPOSED STEEL MEMBERS ARE SPECIFIED TO BE HOT-DIPPED
, ’ BAR SUPPORTS SHALL BE PROVIDED FOR ALL REINFORCING STEEL TO
REPLACED BY S-SECTION FOR ALL TRACKS, GALVANIZED OR STAINLESS AS NOTED. ENSURE MINIMUM CONCRETE COVER. BAR SUPPORTS SHALL BE PLASTIC SHEET NUMBER | SHEET NAME
STUDS BLOCKING, TRUSS CHORDS WHERE TIPPED OR STAINLESS STEEL
TYPICALLY T-SECTION IS IN USE. 15. WELD LENGTHS CALLED FOR ON PLANS ARE THE NET EFFECTIVE LENGTH REQUIRED. WHERE FILLET '
AISC MANUAL OF STEEL CONSTRUCTION LATEST EDITION. THIS INCLUDES OPEN WEB JOIST WITH AN ADMIXTURE THAT CONFORMS TO ASTM C-260.
CONNECTIONS. S1 STRUCTURAL FOUNDATION PLAN
MINIMUM DELIVERABLE | GAUGE | DESIGN THICKNESS 16. THE USE OF E70T-4 WELDING WIRE IS NOT ALLOWED FOR ANY S2 FIRST FLOOR WALL FRAMING PLAN
THICKNESS (mils) (INCHES) APPLICATION. S2.1 FIRST FLOOR CEILING FRAMING PLAN
- 20 0.0346 S3 SECOND FLOOR FRAMING PLAN
R — SPECIAL INSPECTIONS o L e
o p 0'0566 S4.1 2ND FLOOR CEILING FRAMING PLAN
: S5 ROOF FRAMING PLAN
68 14 0.0713 ]
N O I E S S6 STRUCTURAL SECTIONS
[ ]
97 12 01017 S7 STRUCTURAL SECTIONS
118 10 0.1242 PER IBC 2021 SPECIAL INSPECTIONS, SEE INTERNATONAL BUILDIG CODE, CHAPTER 17. S8 STRUCTURAL SECTIONS
1705.12.2 - REQUIRED VERIFICATION AND INSPECTION FOR WIND RESISTANCE S9 STRUCTURAL SECTIONS
1. INSPECT WELDING OPERATIONS OF ELEMENTS X | IBC 1705.12.2
OF THE MAIN WIND FORCE-RESISTING SYSTEM S10 STRUCTURAL SECTIONS
NOT BE SPLICED. GURVED HEADERS, 5TROMGBAGKS, AND SPANDREL TRAGKS. 2. INSPECT SCREW ATTACHMENT, BOLTING, IBC 1705.12.2 o1 STRUCTURAL SECTIONS
: , : ANCHORING, AND OTHER FASTENING INSPECTION OF SHEAR S12 STRUCTURAL DETAILS
SHALL BE STRETCH FORMED. CLIPPING OR CRIMPING OF FLANGES OR WEBS IS OF ELEMENTS OF THE MAIN WIND FORCE- WALLS AND DIAPHRAGMS
NOT PERMITTED. IF OTHER PROPRIETARY CURVED PRODUCTS ARE PROPOSED RESISTING SYSTEM INCLUDING SHEAR WALLS X | WITH FASTENERS SPACED STRUCTURAL DETAILS
THEY SHALL BE SUBMITTED TO DEVCO, WITH APPROPRIATE CALCULATIONS DIAPHRAGMS, COLLECTORS (DRAG STRUTS), GREATER THAN 4” OC IS
AND/OR TESTING, FOR REVIEW AND APPROVAL PRIOR TO CONSTRUCTION. BRACES. AND HOLD-DOWNS : NOT REQUIRED
6. EXTERIOR AND INTERIOR FRAMING, SHEATHING AND FINISH MATERIAL SHALL NOT 1705.13.3 - REQUIRED VERIFICATION AND INSPECTION FOR SEISMIC RESISTANCE
BRIDGE DEFLECTION JOINTS (COMPENSATION CHANNEL), SEISMIC JOINTS,
EXPANSION JOINTS, OR ANY LOCATION WHERE DIFFERENTIAL MOVEMENT OF THE 1. INSPECT WELDING OPERATIONS OF ELEMENTS X | IBC 1705.13.3
STRUCTURE IS EXPECTED. EXCEPT AS SPECIFICALLY DETAILED WITHIN, SLIP OF THE MAIN SEISMIC FORCE-RESISTING SYSTEM 5.13.
JOINTS SHALL BE INSTALLED BETWEEN FRAMING SUPPORTED BY DIFFERENT
FLOORS/ROOF(S). FOR EXAMPLE, A VERTICAL SLIP JOINT SHALL BE INSTALLED 2. INSPECT SCREW ATTACHMENT, BOLTING, X |IBC 1705.13.3
BETWEEN A SOFFIT HANGER AND A WALL. ANCHORING, AND OTHER FASTENING OF INSPECTION OF SHEAR
ELEMENTS OF THE MAIN SEISMIC WALLS AND DIAPHRAGMS
7. SCREW VALUES USED IN DESIGN MEET 2007 "NORTH AMERICAN SPECIFICATION FORCE-RESISTING SYSTEM, INCLUDING SHEAR WITH FASTENERS SPACED
FOR THE DESIGN OF COLD-FORMED STEEL STRUCTURAL MEMBERS" (AISI WALLS, DIAPHRAGMS, COLLECTORS (DRAG GREATER THAN 4” OC IS
$100-07/S2-10) INCLUDING THE 2010 SUPPLEMENT SECTION E4 FOR SCREW STRUTS), BRACES, AND HOLD-DOWNS NOT REQUIRED

CONNECTIONS. SCREWS TO CONFORM TO SAE J78.

1705.2 - STRUCTURAL STEEL CONSTRUCTION (AISC 360 AND ASIC 341)

8. WELDING: 5. STRUCTURAL STEEL WELDING:
A. WELDING TO BE PER AWS D1.3 "STRUCTURAL WELDING CODE - SHEET

STEEL" C. INSPECTION TASKS AFTER WELDING (INSPECT
B. WELDS TO BE INSPECTED PER APPLICABLE BUILDING CODE. FOR EACH WELDED JOINT OR MEMBER, THE QA X
D. USE LOW HYDROGEN ELECTRODES FOR WELDING SHEET STEEL TO 1705.6 - SOILS

NN
% AN A
YNNI
] nn\ !é@, R

STRUCTURAL STEEL GREATER THAN 1/4" IN THICKNESS.
E. ELECTRODES MUST BE ACCEPTABLE (PER THE ROD MANUFACTURER)
FOR USE IN SEISMIC APPLICATIONS.

1. VERIFY MATERIALS BELOW SHALLOW
FOUNDATIONS ARE ADEQUATE TO ACHIEVE THE X
DESIRED BEARING CAPACITY

v/

F. ALL WELDS OF GALVANIZED STEEL SHALL BE TOUCHED UP WITH A ZINC ‘e g N
RICH PRIMER. 2. VERIFY EXCAVATIONS ARE EXTENDED TO X N ks | s
G. FOR MATERIALS LESS THAN OR EQUAL TO 0.1242" THICK, DRAWINGS PROPER DEPTH AND HAVE REACHED PROPER N v s"& i I g
SHOW NOMINAL WELD SIZE. FOR SUCH MATERIALS THE MATERIAL i 5 AN 'llz‘ | %‘
EFFECTIVE THROAT OF WELDS SHALL NOT BE LESS THAN THE 3. PERFORM CLASSIFICATION AND TESTING OF R L‘,\\IM “"@ [
THICKNESS OF THE THINNEST CONNECTED PART. COMPACTED FILL MATERIALS X 7 h§‘|'<|l\ > ’, I I
o

4. VERIFY USE OF PROPER MATERIALS, DENSITIES, X
AND LIFT THICKNESSES DURING PLACEMENT
AND COMPACTION OF COMPACTED FILL

5. PRIOR TO PLACEMENT OF COMPACTED FiILL,
OBSERVE SUBGRADE AND VERIFY THAT SITE
HAS BEEN PREPARED PROPERLY

SHEET NUMBER:

SO

SHEET NAME:

>
{/
/A = \

?///
//'7
L=
7/~
A

DRAWN BY

/?
IS
7'

5

N
y):

/A

e

SCHEDULE OF SPECIAL INSPECTIONS
COLUMN HEADER NOTATION USED IN TABLE:
C INDICATES CONTINUOUS INSPECTION IS REQUIRED.
P INDICATES PERIODIC INSPECTIONS ARE REQUIRED. THE NOTES AND/OR CONTRACT
DOCUMENTS SHOULD CLARIFY.
BOX ENTRY NOTATION USED IN TABLE:
X IS PLACED IN THE APPROPRIATE COLUMN TO DENOTE EITHER "C" CONTINUOUS
OR "P" PERIODIC INSPECTIONS.
-- DENOTES A ONE-TIME ACTIVITIY OR ONE WHOSE FREQUENCY IS DEFINED IN SOME
OTHER MANNER.
ADDITIONAL DETAILS REGARDING INSPECTIONS ARE PROVIDED IN THE PROJECT
SPECIFICATIONS OR NOTES ON THE DRAWINGS.

I
24
\" /i
Nz

MK

CHECKED BY COVER SHEET

DZ

),

PROJECT NUMBER

24-113

ALL CONCEPTUAL AND ENGINEERED DESIGN WITHIN THESE DOCUMENTS MAY NOT BE USED TO ANY OTHER PROJECTS OR PRODUCED IN PART OR WHOLE WITHOUT APPROVAL AND WRITTEN CONSENT OF TAYNR, INC AND SPRAY ROCK, LLC.



' " [ " ' " ' " ] " ] " (] " SIMPSON HEAVY'DUTY V‘
9'-9 16'- 10 , 8'-0 , 12'-8 , 8'-0 12'-0 2'-0 SOREW ANCHOR 1/2" X 4" STUD REINF. PER PLAN
4 ON CENTER MAXIMUM 10 MIL POLYETHYLENE
‘ n n " 3 ] 3 4 - $ n n n ‘ " " " 4 - 9 3 - 3 n n " g ;ﬁ j A\ VAPOR RETARDED
5/8"x8"x16 COLUMN FOOTER 96x60x12 5/8"x8"x19"1/2 COLUMN FOOTER 96x60x12 5/8"x8"x19"1/2 COLUMN FOOTER 96x60x1 5/8"x8"X16 N . .
EMBED PLATE | BELOW SLAB FOOTING EMBED PLATE BELOW SLAB FOOTING EMBED PLATE BELOW SLAB FOOTING EMBED PLATE 2 /
(4) 1/2" DIA STUDS ity iisd (4) 1/2" DIA STUDS #5 @13" ON CENTER (4) 1/2" DIA STUDS #5 @13" ON CENTER (4) 1/2" DIA STUDS 312" k 4" COMPACTED GRANULAR
6 1/2" LONG . Aé@H VAY TOP & BOTTOM 6 1/2" LONG EACH WAY TOP & BOTTOM 6 1/2" LONG EACH WAY TOP & BOTTOM 6 1/2" LONG Z A—A % CAPILLARY BREAK & DRAINAGE
‘ N ‘ ] | | - ) | i - a PAD - COMPACTED GRAVEL
:‘: 3! - 3Il 1 L} - 6" 3| - 3" :‘: 3I - 4" 1 L} - 4" 3' - 4" -: 3' - 4l| 1 L} - 4|I 3| - 4|l 3' - 3" 1 L} - 6" 3| - 3" —: m
. A 2 i .z ATA A d 2 & -' .
E . N N COMPACTED OR
o N [ N
. P . @ . -, ' 1 =N ) UNDISTURBED SOIL
. A T ] ST | | e S|
o e R e S R e Ok o | @
= NEE REINF. PER PLAN PER PLAN
- e X T — S ey S 12Hx12W FOOTING Lf*J*T”**** T
2| - 4" ‘ 4l - oll 1 4| - 4|l 21 L} - 4" " ‘ /‘ /‘
2 : y e 4" CONC CURB % (2) #5 BOTTOM \
) =i i , 2-10"/1-8" PER 2/S1 o
2 | J-8, 2-10m ) oo N W W 4" CONC CURB— | i 1 EXTERIOR WALL FOOTING DETAIL
4" CONC CURB | 4 Y = ) | Bz 1" = 10"
‘ _Or - 4|l - Aﬁ - 1 — — 7 & ; -Sxﬁ - — — — 7 L e ‘
| T | | ® | | | COLUMN FOOTER 54x54x12 |
N _ N | ‘ | BELOW SLAB FOOTING : !
o N | . ~ | | - |/ —-— Ell — 45 @16 ONCENTER 18 < SIMPSON HEAVY-DUTY REINF. PER PLAN
S ‘ | N ‘ *H ffffffffffffffff — DO ——— [— \ EACH WAY TOP & BOTTOM | i~ SCREW ANCHOR 1/2" X 4 STUD
| | g 09 N | | 4' ON CENTER MAXIMUM _ 10 MIL POLYETHYLENE
i | E | 0 T‘* ******* - o H e — B ] VAPOR RETARDED
. e - O | aQ = g L : -
o T 2 y T EJ n L‘ - T - = lil I = N = / n
g _____ S e _ RPN S - - N 4" COMPACTED GRANULAR
0°-0 2 | {;0 O VM & | z CAPILLARY BREAK & DRAINAGE
< R (e -0'- 4" || ] < PAD - COMPACTED GRAVEL
COLUMN FOOTER 48x48x12 ) COLUMN FOOTER 54x54x12 | C;F {} | < o
BELOW SLAB FOOTING BELOW SLAB FOOTING o | - S o o
o #5 @14" ON CENTER #5 @N16" ON CENTER = & T o™ o R
K EACH WAY TOP & BOTTOM EACH WAY TOP & BOTTOM L \ | o COMPACTED OR
3 | SIS o o | E B = S UNDISTURBED SOIL
~ R I N \ — a
m 0'-0" SLAB-ON-GRADE 4" i /L 1 [ o
NG WITH 6B - W1.5:1.5 WW.EOR B VX | REINF. PER PLAN PER PLAN
] I {; 1N COLUMN FOOTER 36x36x12 7 7
< 12Hx18W FOOTING | ol | | EEng--%ﬁ%ES%FLN\G
N 2) #5 BOTTOM i : L
N () 2o | H | 3 |, Hl|.,.  EACHWAYTOP&BOTTOM 5 INTERIOR WALL FOOTING DETAIL
‘ ‘ u? \ | 1u = 1|_0u
w =
8| - 6 5/8“ 3| - Oll 6| - 5 3/4" 3I - Oll 1 1 L} - 5" 1 L} - 4|l 5| - 2|l 1 L} - 4|l‘ -~ ‘ ‘
OLUMN FOOTER 30x30x12 f | AT i L 0T SIMPSON HEAVY-DUTY
BELOW SLAB FOOTING COLUMN FOOTER 36x36x12 ] B < SCREW ANCHOR 1/2" X 12"
. BELOW SLAB FOOTING . | T 4' ON CENTER MAXIMUM
#5 @12" ON CENTER . |
ACH WAY TOP & BOTTOM 5 5 #5 @15' ON CENTER i | i
2 2 EACH WAY TOP & BOTTOM BN | REINF. PER PLAN— a.
| N — Tt N— b | i | N
I = i N — N I | ‘ e o 10 MIL POLYETHYLENE 2
” R +ij4"} | = — = 3 E ST e Y } H M RETARDED\ X
[V N I N O I e O . N _ _ - ~—N . T N\ N ~—N\ = ————
S\ e j & t f B N N 12Hx18W FOOTING e e 4" COMPACTED GRANULAR N
= i S0 e — . (2) #5 BOTTOM = 2 CAPILLARY BREAK & DRAINAGE—— =
| > = | = = § | | PER 2/S1 | [ o PAD - COMPACTED GRAVEL £
D = | i — B — 1 — — — — — b = = — — — — _| — | — N
[ I I J]f 1 | § | | Y \ L o
= | o . | I m s g _ COMPACTED OR
- N T T T T T | | \ - | | © L 2'-6" ' 3'-01/4" UNDISTURBED SOIL
olo 1 ‘ N A i #» j;i - 1 | ‘ ‘ _EL W i ‘ 5 Y \\
S b N \‘ |, ——— T T T T T T T T T T T T T T T ——+— A 1 C T x X — i i ) E— Cpet————
\ ~ || \ R P T — oo — =71 - —— - ] N B 7i \ i
| } 0 /2 T e H | < | } B = < PER PLAN REINF. PER PLAN
| T | | Jg A = B N COLUMN FOOTER 30x30x12 s Nl o 7 7
AN B e e e e 10 } 1 ' BELOW SLAB FOOTING r . ﬂ — .
! -0'- 6" | \ \ \ #5 @12" ON CENTER = . <
S1 | 2 > INTERIOR WALL FOOTING @ SLAB STEP
J | 1 1120 314" L % o L $ o N I il EACH WAY TOP & BOTTOM | N _. @ g @
T 7 7 3 A 12Hx16W FOOTING | I} | 5 ‘ | L “‘
‘ ‘ COLUMN FOOTER 48x48x12 RE = R = (2) #5 BOTTOM - | . | = STUD
| . BELOW SLAB FOOTING \31/ . \‘ 8 PER 3/S1 \ R COLUMN FOOTER 24x24x12 | \ ’\E\. ] SIMPSON HEAVY-DUTY
z‘-—‘f‘ 4" CONC CURB ‘ ‘ #5 @14" ON CENTER U]' 4"\ | | | BELOW SLAB FOOTING _ l i ‘ & . | i % I Q? SCREW ANCHOR 1/2" X 12"
im | EACH WAY TOP & BOTTOM | H:Y- ;| a | | Ll #5 @18" ON CENTERS | B = N 4' ON CENTER MAXIMUM
| 12Hx18W FOOTING e i | I | FACHTWAY TOP & BOTTO _— &
“ x - H = §
g = | (2) #5 BOTTOM 12Hx16W FOOTING H= NI N | - . = REINF. PER PLAN
% COLUMN FOOTER 48x48x12 | =\ = | -
N | PER 5/S1 BELOW SLAB FOOTING (2) #5 BOTTOM — = | <N H . = T N CURB
| | | — PER 4 /S1 L7 - | | @ N .~ PERPLAN 10 MIL POLYETHYLENE
] | #5 @14" ON CENTER " 1 | I o v 9. 53/4" | © N3 VAPOR RETARDED
w ‘ 11! - 2" 4| - Oll ‘ " ’7 “ ‘ 5 ‘ 1
: = EACH WAY TOP & BOTTOM ‘ BRil 1 | S — 5 P
> ! ‘ T P j Py x
- - T e | ‘ | | 0'-0" m L1 I : L 1 L / 4" COMPACTED GRANULAR
._-«07‘6" CONC CURB 2-0" 2-0 T 0 - 6" | [ ] % W \ \ = RN | L = CAPILLARY BREAK & DRAINAGE
| | N J' EMBED PLATE $ ) - L | = B | X Z : PAD - COMPACTED GRAVEL
| | = ] y (4) 1/2" DIA STUDS | 1 |1 K IR S > o
L | K \ \ | 6" LONG o || \ | | i B &
| 5| Al | g | e | g [ 3 & y *
‘ - - ‘ ‘ ‘ = S | . RN 12Hx16W FOOTING = 74" RECESSED ‘ | | ® COMPACTED OR
= ~ B GARAGE SLAB T dAET TN (2) #5 BOTTOM— 1] | SHOWERPAN | | i UNDISTURBED SOIL
\ N | | | 2" TOTAL SLOPE FROM | I L | o PER3/S1 | [ | \ 2
| | Ly REAR TO FRONT . H | - ; K i — ] “J 6
= ‘ o ] \ =
= | /,L ******* I T ‘L — | 1 I "‘ Il ; ‘ M0 - B 0'- 4" REINF. PER PLAN PER PLAN
Lo SO o] o -0'-1" -~ | h@ |
o K |6 CONC CURB i S } | } T } o : g !
SCT N | | i N == I < — AN
C - U'm ‘ | “IZ][? ‘L . . . rmwm B } L = | _ | s _ - | ‘ﬁt - | \ o o
R e N N S N =~ | = o == i . “9'-41/2">~__ 10"
: < L — /!1/ o | L | J 77777777777 | P T i’ EXTERIOR GARAGE WALL FOOTING DETAIL
5| SEE NOTE 2, 3 ‘ © - % 7 7B 4 ) — 4
TN 110 . mﬁEﬁe" CONC CURB —— e — — = 1 O 1"=1'-0
o 5 — — — — ! ‘ —— — — — _ = — — - A
K | | . m M T I N | O | | -1 imim| 5 | EREEE LGS COLUMN
- SEE NOTE 2, 3 ) L12Hx12W FOOTING ' ) ' ‘ ‘ )
4 (2) #5 BOTTOM 11'-83/4 1 -4y 9'-93/4
PER 2/S1 /7 ®‘® @‘ ‘ ‘ ‘6)‘@@
® | @ ® ® | @ ®
12'-6 ‘ , 21'-0 ‘ 10'-10 1/2 22'-101/2 N P
| 7 | ololol | C ele @/(45)#1OSCREWS
L} n L} n 1 " EACH SIDE
9-9 L 2-9 54'-9 olofo| | ee| ]
® | ® ® ® | ® ®
1 3 4 5 ool | N I
T oleleo] | | lelelo]  1/8'x24"x15" STL PL
T i @\@ @\ ‘ ‘ ‘@\@ ® EACHSIDE
A STRUCTURAL FOUNDATION PLAN T Nl ® | oo - u ® | oo
1/4" =1'-0" ololo ololo
) oleolo| | | Jele]o
- STUD - : S A R 3/e
atn #4 x 24"1/2 REINFORCING BAR. ololo oo
- " HOLD-DOWN PER SCHEDULE REFER TO PLAN FOR SPACING. i T sEex19m2 ololo] [ elals
PER SCHEDULE o INTO CONCRETE [T 71 L EMBED PLATE
) -t - (4) 1/2" DIA STUDS
Y N 6 1/2" LONG
CONCRETE SLAB 10 MIL POLYETHYLENE VAPOR - & [ 4 10 MIL POLYETHYLENE S 10 MIL POLYETHYLENE
REINF. PER PLAN RETARDED 51 - VAPOR RETARDED VAPOR RETARDED SHEET NUMBER:
5 S 3 z
. T 4" COMPACTED GRANULAR 4" COMPACTED GRANULAR
] > 31/2 CAPILLARY BREAK & DRAINAGE > CAPILLARY BREAK & DRAINAGE 7 LGS COLUMN TO FOUNDATION CONNECTION DETAIL
= < 77 2 PAD - COMPACTED GRAVEL < PAD - COMPACTED GRAVEL 11/2" = 1-0"
ot T o DRAWN BY
—N o
~ i i SHEET NAME:
o L 3 o DZ
COMPACTED OR N COMPACTED OR
T UNDISTURBED SOIL T UNDISTURBED SOIL NOTE: CHEGKED BY STRU CT U RAL
COMPACTED OR . 1. FIELD VERIFY THRESHOLDS FOR GLASS FO U N D ATl O N
UNDISTURBED SOIL " CAPILLARY BREAK & DRAINAGE REINE. PER PLAN SLIDING DOORS. MK
PAD - COMPACTED GRAVEL ' PER PLAN REINF. PER PLAN PER PLAN 2. NO BRICK-LEDGE AT ENTRY HINGE DOORS
7 7 (FRONT, SIDE, GARAGE, ETC). PLAN
3. RECESS OF GARAGE DOOR 1.5" DEPTH, PROJECT NUMBER
WIDTH CONFIRMED ON SITE.
5 SLAB-ON-GRADE DETAIL 6 HOLDDOWN DETAIL 8 SPRAY-ROCK ANCHOR DETAIL 24-113
1 n = 1 I_OII 1 n = 1 l_Oll 1 n = 1 l_Oll

ALL CONCEPTUAL AND ENGINEERED DESIGN WITHIN THESE DOCUMENTS MAY NOT BE USED TO ANY OTHER PROJECTS OR PRODUCED IN PART OR WHOLE WITHOUT APPROVAL AND WRITTEN CONSENT OF TAYNR, INC AND SPRAY ROCK, LLC.



\ \ \
\ \ \
} " 1 1 56'-41" 4 51"
| | | W
| 1-2 ‘ 18-8" 1-4" ‘ 194" 1-4" 13-10" 1-2
\ \ \ \ \
| | | | |
\ \ \ \ \
) \ \ \ | \
@ « s S I I N o
: : \ : \
. ; o m [T | IIININN (I |
N ‘ <P ‘ C10 ‘ c13 ‘
| \ | | \ -
; I ; ; :
\ @ :
; | | | | = 6", | 1-11%"
N \ \ \ | ¥ \
N % | |11 [ \ R ‘ ‘\ .
I 1 | | im S
® \ \ \ \ L123]
| [C23] HJ
\ 11 303" | 4% \ |
! || \ 7 ! Swi !
\ \ \ | \
| ‘ | SW1 " 3.3" | 1= | § Eh
| NN Sl | % - % m=iy o
. | B ! (31— O N L82 & |
kY i BT =10 | 3 |
Ty} ‘ NN [L14] ‘ ‘ o i | [L124]
| || | | ., L123) )
| | | 4" 53" 1-11%" s [ I
o = KR | ] | o1
S | e | 3% 6" ‘ | 1-11%"
S 1 | | o -3y 8% | T
™~ | | | ‘ = 9-3l , 2-8% | g
| o | | | et W11~ |- <
: \ o \ \ ™ o013
g | & | | — *"\ _
® | N | | | +— Er_=H" i
| = )] | | =T 11 BT
; . ; * -
| ‘\ | | ﬁ ﬁ g ‘ 1
| I | | ] N _ X
) | |1 | | | = =
5 : H gllis o : :
2 @ e | e
\ K \ \ N
| 1 | | Y £
| (' | | -N46 =
~ H
\ N 211" 5'-10%" 3% \ - | &
| | | L
| } | 22 | 3% 8y 3%y _
: - \ \ & I — N v
) | N | . . . | a1 . i W | N A
kY ‘ i ‘ 4% 9-0% 6 611 10-3% L 3-4 N i g
I
~ = 03" 1 H3 =
- \ \ m— ¢ g 30% | 10%" 5-0" SW2 - 5-1( o
N = o W2 - 5-10" , - 2", | @ o 2
X : 1 Ly (N3] 9 R c3) 611" [ s 1 < N
3 E kY T E—T | =] | | [E T T [1 il oL
~ : -HO \ N15 — ‘ \
: 9%k, 3-10%" | 5-10%" |, | e —H S L6 ] 10 | o L Ue & sok- H
S N 1 WEE N . z F) z = p4 0 z
R % | 1-5% L 33 ; ; © o / N I 1\\ I
5 . — i ™ i " [N31
< B | | N | | - -
@ fo—bt-———- lLM_L_# ————— S — e ———- S Y ————————— I ——————— = ———--
3 DI W [L20 , \ | 3 |2 N | N | 1 1353 | 2 6-0 944, )
\ o \ © . ‘ \ 0% H 5-0" ) e 22Uy | 21 |
\ = N4 =
\ = 5H \ i 0 | \ 1 T L129] L N57 1 1 N4 :
‘\7 i | e | fﬁ: | *4_11 ‘ I I 17 | I il i I 1 jhu [ 1 I :‘rN\'
X | | NG| [ 2 U | | = 5 N64 — >
Y e \ \ Ng| A72 ‘ ~ \ \ . = g &
< ‘\f ! I NI 1 T T T 1] I =1 | O T 7 1 I | | — i - N
- = :7 - - - - 70 — — 0 —— T T T T T T T T k ‘ L — ~— A ;ﬁ: '\I
A 33 et SW3-17-0 al | ‘ et i i e I
‘ | H | | 8'-83/4" 6-1" 2._23/4.. | 3._31/2.. 6" | 6'-11/2" i) g} . N62J—| ;,-
| \ \ ! ! | 13pm 17 < H T Ry | Jl o= T T
N 3% 5-41" 3%2" 10-4%5" 3%2“ _4-0% 3 | 6-11p" —: 6-9" <1l 5% 1 ™ Neil-H u " g
1 | | | AT i 31g @ e S 5
| \ | | R ] 7 |2 © | < - = ©
| | | | 1 e [ & | J e P .
} | | | i EI) L 3 ezl o/ j
o“ — ‘ ‘ ‘ “ i - ‘ © %; | AJ/E} \
T ] ‘ - — -
N} | | | | 5 [ S iR B o 7 -é\gj N74 LJ:;OZ
2 : v \ \ hy || H X 5 Z 3'-84"
¥ o g
Y25 g Hy | | ‘ ® e Il e Nao) ~ s
o ®p = \ \ ! Mz ‘ j&m N40 | N56
n ‘ ‘ ‘ ‘ | ‘ ‘ 1 *‘ = I I I ] I T I
| N B e T Lo i’ N
‘ ; ] ; ; : W o H PR
\ EYREE il ) { &
| | | | Sl 3
| 5 Q" ~glh"
N | | ‘ IR " | 3 8-0 3-8l
1 n =
T | | | g = | 5 e —
N | L ___ 9l _Bl]E —i | © B
i | = E <
i | | c24 o
: | | _’4LT‘ =/ — A=l N =
X N ‘ Sy ‘ I N H]
Y N E! | ﬁ; Lag] | < \U’ %ﬁ o
~ \ \ ~ \ _ o] | R |
}\ | LI =S 5 O
AN | 3 0 {8 _
o ‘ ‘ 1] [L10] || Y |
® [ \ Ly | | 211" 5-31" 263" g ]
———F———HF¥rt-——————-———- St . B —— - m "‘**«? fffffffffffffff ——df-—f=2 N —-———————H——————-
| 15" 9-0 \ 211 | | i \ m o u
MESY A ‘ N <. | .
S T A f—— . S S - R [ ——— 7l e—— [L15] |
: | o \ ~
< ‘ ‘ ‘ -, ; [ [l eI [ e ] [ [ B ‘ 7T
) 2 e ey s S i *ﬁ*:#bff:* ********* T TowE L de e T T *T**** -
’ 2 \ \ 1 1r-glem ' T | 1'-83k" e 2 S\N‘E?‘-gl_f) I NIAT . . I gln AT glpn '
@ | | ity 18-0 107" |1-8% 70 4-93 | 6-41% - 4-5‘ | 28 17l 2.8 1e11
m ; ; ; ; 1-8%" 7-0" 1-8%"| 2-3%" 8-0 1-10%" 471" 4-10" |
S12 \ ! |
4" ay%.. 12-0%" ; ;,\_-%1/%.. 20-21" ;,\_-%1/%.. 10'-5" .\_-%1'/%.. 11'-81%" ay%.. 9-11" 4"
9-9" | 2-9" | 20'-8" | 34-1"
1 1 1
\ \ 67-3

FIRST FLOOR WALL FRAMING PLAN

1 Scale: 14" = 1'-0"

361"

735"

10" 10" 10"

10" 10"

g g

= =N
3 5
™ % \ | =
: -t
|
|
\
m 1 |
‘ 5
| .
\
‘ =
| =
— -
\
‘ =
| =
‘ =
. =
‘ —
‘ =
| S
\
‘ =
| =
| == :
\ =
\
| /16
o
‘ . =
; — 1|~ &
‘ =
| =
| o
} = .
| =
‘ ' =
| :
|
== o
‘ = —
|
|
| 99%" 341"
]
2 Scale: 1" =1'-0"
SHEAR WALL SCHEDULE
i Length of Shear wall (Min.)
: /Ext. walls - "SPRAY-ROCK" sprayed
: E/concrete shear wall, 3 inch thick
|
I (% Int. walls - X-bracing (7.5" x 54 mils)
|
HD per Schedule
o
|
Refer to Plans for Specific Transfer &
Connection Detail at each Shear Wall Location
For SW13 use X-bracing 10" x 54 mils
HOLD-DOWN SCHEDULE
TYPE HOLD-DOWN ANCHOR / EMBEDMENT

SIMPSON S/HDUG6

5/8-DIA F1554 GR36 WITH SIMPSON EPOXY ADHESIVE "SET-3G"

MIN 6" EMBEDMENT

SIMPSON S/HDU9

7/8-DIA F1554 GR55 WITH SIMPSON EPOXY ADHESIVE "SET-3G"

9" EMBEDMENT

e
T

SIMPSON S/HDU11

7/8"-DIA F1554 GR55 8" EMBEDMENT 4

L ESEL B N B

#4 x 24"1/2 REINFORCING BAR. WITH SIMPSON EPOXY ADHESIVE 10
"SET-3G" MIN. 5" EMBEDMENT

DRAWN BY

Dz

CHECKED BY

MK

PROJECT NUMBER

24-113

SHEET NUMBER:

S2

SHEET NAME:

FIRST FLOOR
WALL
FRAMING
PLAN

ALL CONCEPTUAL AND ENGINEERED DESIGN WITHIN THESE DOCUMENTS MAY NOT BE USED TO ANY OTHER PROJECTS OR PRODUCED IN PART OR WHOLE WITHOUT APPROVAL AND WRITTEN CONSENT OF TAYNR, INC AND SPRAY ROCK, LLC.



SHEET NUMBER:

S2.1

SHEET NAME:

DRAWN BY

DZ

FIRST FLOOR
CEILING

CHECKED BY

MK

FRAMING
PLAN

PROJECT NUMBER

24-113

[ = = | ,l

: “ :
HHHHHHHHHHHMTHHHHﬁHHHﬁHﬁHHHHHHUHHﬁﬂ # | .
| | 2
| | ; M

o 1 C L ¢ = TUiu | | | ;

TEF=EEST T [T -1 - ESES=a] [ FO=sf T T =====F=== [ 1 T T T AHV
! - , ]
= |l
| o H 5 W M
- 2 S —i
& , | , (i
g
* T [ ] - W W ,¢
i = f f
1 i m <] | IH
LU o ﬁ @ 7 :ﬁ
I =iy O , il
i , | |
E_ | , (44
Il F———T T T TP B 7 7 E
i "“ ﬂ ﬂ&
I | 5
i

— —
F—
|

T
| |
5
|
I
|
\
|
£
|
_

1

i e e

7
!
f
!
7
!
7
!
f
!
7
!
7
!
f
!
f
!
7
!
f
!
f
i |
" I g RS —
!
f
i
!
|
!
f
!
7
!

T

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
[ ,
| |
|
T—T—+—T I #f\“\\HHH 1 I S | W
| |
f F f W
! Il H
| | e
| m | i
| t o
| Il |
| | |
| It =X
| i i
* EEEESE | H
IR = ,
NGNNNENEN A !
I Jlj H 1=}
hunny ] "
= T T T T T T - M — T T O 3 mAHv
‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘ s et Y B
|
T
i oy
m , [ 1
i
I | E, i
I 1
| | |
i
| oW
§ .
, f:,”
f | ,
f | :,, |
_ W :,W,
| I A
L A . %
N A &
I Coom
i A
I
! o
-
I W f:W
I Il N
_ , | |
B [ .
| :,, i
| Ef ,
l .
_ N
g
[ T =1
w \\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ L @)
| ]
| | :
, | ! -
| H i ||
s = [ SN 11 N EE S N
W _W W ﬁ LMHV
FHY i
| | |
, t ,"
| ! |
| | ,7
| | |
, | , " .
7 ) | o Ny
| i | | o)
ﬁ o
| o
| 1 ,7
| 5 | ||
| = | |
| BT o st e s T s e St D Tt I || AHV
iT \\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ i\‘\ﬁ\i‘\‘\‘vﬂ‘\
|
| |
|
| |
|
ﬁ .9-.0¢ b2 0-Z | f¢a
: —
| | i

Scale: 4" = 1'-0"

FIRST FLOOR CEILING FRAMING PLAN

@

ALL CONCEPTUAL AND ENGINEERED DESIGN WITHIN THESE DOCUMENTS MAY NOT BE USED TO ANY OTHER PROJECTS OR PRODUCED IN PART OR WHOLE WITHOUT APPROVAL AND WRITTEN CONSENT OF TAYNR, INC AND SPRAY ROCK, LLC.



__._V\._”Nl_._u L :.V\m._wn_.ﬁ L 7\

SECOND
FLOOR
FRAMING
PLAN

SHEET NUMBER:

S3

SHEET NAME:

CHECKED BY
PROJECT NUMBER

DRAWN BY
MK

DZ
24-113

2 3

Scale: 3" =1'-0"

L L L
g JJeT-S Wre-T .0-C .0-.Z Wr0-T .0-2 .0-¢ .0-¢ .0-¢ .0-¢ .0-¢ JJev-T .02 W0-C | Ip0-2 1 JFEe0-C | .6-T .0-¢ .0-¢ .0-¢ W£0-<C |9 T |.ST| .02 .0-.¢ .0-.¢ .0-.¢ W6-T Q .0-¢
| | | | 7
f f f f
f
| | | .
f f , f o
7 ] _ | Jro-T | .
, : , , ,
| Sc S | | !
f : [ : f T
N1 1| sl | il = ,
© Fr % — 19 1Y — ~ | ™ ™ | 7 7 e
o ~ = S
Y. v Olfif, 5 | ofl| o el | N
< | I [
R e e el 8-/ -/ = — |- S (i A W \\\\\\\\\\ S 1 C2LCE 1 i Ao 1S 21 1 s s il I C2. 1, “L\_ MT S
U S =R | N S M| = == === == |u LI I T == ol |53 5~ 1o o , &
, re1a] Tca— T I I I 1 1 1 ﬂ m ﬂ m m , 1D =
5 e o = i s s s = H B = sifA=8 © IF 7 R AlH -2 0" A I i
N || H B = D, = ! ! ! 4 L | B = (alffl| ® || m i H | Q
- — - N
| | 1 A O R A O | = T 3 A I
5 | BE] | . — — ——||& - [l <" Y -
& , = = = = = = = = = = = | H H — ] ] ] —T ] j — , ik (=)
= = = & : : : H H F s 619 | o)l | :
W W :OH\MHH; i i i ﬁ W - i m : Tj 1 1 1T _7U @U._-U T L -
5 | 613 Ul U 4L Usd U H | (Wl T &lT :
& | H = = = = = = = = = H o, F = ] : n, | i
| | u u u u u S10 n | C
, ® Lt s s B B B | o E— -
: e 613 i == o e Hy He=ly Ho HpHe Hesle Hee oLl ~ 3] Vs I :
d — 1 = == 3 3 1 1 B = 34 = I HE I = i i )
N Al E o _ = = = SHIERIE | L e i I &) 3 = HU || ] L o Iyl | by
" e £ - E ﬂ" i M 1° o E._“_uw T TE; 2‘"
5 , JE] ) | M Hel L u . . 0 H H 0 H H = m;ﬁ H _uH  H |1 H _ 4K B Y R e s I =
= | = = O F M i AT I A W N | |15 L O R 11 [ o
, , L — =N = =
B - T1d — =
- 7 614 - ] ] Un_./_ ] ] n n n %m; a a = = = = = ! - 7 m 7 | m
o | M H o H = = ] 1 < [ ] B i 1 1 H = i i i ¥ | = | | | M)
g H o = = = — 4 - M~ H , H
N 7 m ~ _|/_ ~ 7 _ W _, 7 I
ﬁ @ | | | I L 1 15 L m |m Lo [T1] o Lik 5
o m W 614 : : : ﬁ i i i i 1 A i W = = n Sa] | m Seii © i il | N
-|__ a a a ™~ a 2 = = ™ d E ﬁ
. LI || H H H <1 R = ] ] = @ 2 H._.nﬂlk ¥ -
T — — — — = AL A1 O A = H E: =
:/_w__ ,K)j\ M\\J I _mHm,m__ RN = N _E_ Z Z 0- ™ @@ - H-—-f 1_._”N4._mn_ 1 — -1 - TF " f:;, m
St , T 71 1T 71 1T -7 --bB-H - _ _ | H |m m : Hu | :,
~ B | '
5 | TLO] L , | 2 [4E] u n n = = [ = = LTEIi. |l ” o &
= = - II ] I by
) W | N — — _HTEW Wﬁ\b\h\\%\h\\i 2, el | P Th H " ;:: N
- 1 — N N P
_ To o s _ all - B | | | | ] ——it
N 7 m ﬁ 0 s II ON,H_ I = ] 1 1 I I _ [l 0¢ H &e e | iE ﬁ 2
i ﬂ | I I — i — g I " I | | | 1 W W , ~
z E ! o | | 2 = = | | | 1 1 ,
2 | ] N L e} o N O s O i T EE ”ﬂ w
1 — O I I T
| S
N , | I T E— — _H,H I I I R | 519 i R g || Jl\'h:Fjl_,JII,JIIFMW N
: 7 T1D — Q N s iy S | m I I B NS = === LT W ] e
2 | ! N Ll 0zl - - Tid] | i= W T
N , =N — O IT ] I B W Ww , ,.l__ﬂ
: HH._”._.OH. —1 _H, T 5 (L | [ | AR I $ , )
5 | [ L9 g -_ i I = I e 5
S = | & AE] = I | =
N s ul ! i H | i | “
I — (42} ] |
— I | 1 L1 L1 | I— — I % I _ £2
3
- T o EEk 5 m | | m l Seld ;” : W 5
& W nID_ ,ﬁ ﬁ " an IT ON,n_ I H :LW W W Il i &
_ — |
- , I I S— N — Il , R
! [ 7 1 mll i
5 | TLO] s @ ! iy 1 seid i | 5
m/__ i | N 1 6T1d 1] i | :: " m/__
= , | O —— — _Hfﬂ, | | = l_: ﬁ - - ”um ﬁ Tl ,
5 W [TL9] = T =) | | | | | | . Scld i 5
5 | | TEETH HIT R OT-T] .02 | W02 | W02 | W02 | 02 | BEz FEITT e (| X
— , T 1 1 _HJ, | < M , - ﬁ , W o
[o0) T
5 W M L2, ” | & mu ui L el 51d 51g | Seld] |11, e
&l = © S| i S o = H—H — H - B3 _ _ — T T T S
B \\\\\W‘\\JH\\Wﬁ\HA\F+_m\\\\\\\\\\\\\\\\\\\\\\\\.\‘;\ H W-Fﬂ-x[m i e | e | M1 — TR R
S | T | 5 1 H = F e IR | o= 3
o ) | , o I~ H | S9H & [ i i I I 0TI || N
o — | A “H - L5 VA4 - @ 3 |
N W —JL LI T T [ T ; — ilfrl‘ Hr——= d ~ i I 1 1 , —
o & _ lﬁ._”._.Lﬂ LW\\\\MH \u [ [ . n ] ] B * — M - - - = = [ N [ | o
AL = 5 H H H (118 5 H S W7 = = i i i i i - m | ﬁ 2
= = 6.14] o T , . O z q ,
o — | 1 L | | | | | | | | 3 QO -0 = , L
S m | = H H 1 1 1 1 i i e i ” — It i ! © 1 ﬁ 1 1 1 :%. 1 g 1 s o 1 %__ ! ﬂ -
— | o ] ] __:_ .Hn../_ | I 1y = H - | ol I | | o | | _./_
. f 614] I | | | o L | g I Al 1 Q = = 1T | | —
Q | H < H [ § 1 < H H ¥ } ~| [ST1H N T TT 7 — L
N |m © Lo H © H O — 1 T H = H = H , B
W | L B = = = = I | 1 : ﬂfﬁo W | 3
5 f (614 i i m I I I 3 ST1d . g = = = = = I T i ” T~
g - , S - - H (9 | H il @ _ _ - = = = = = S , o 5
s W T o EfEls e ] or|LEm g | y
- N 6.1d | 1 1 = _ n | QY I = — D~ ~ : L
< = N E ENIRL | F T —= il | | He N [§TLd 21 B MNEfTT— - el & & 111 T T %
o W I | | | ] I “ ﬂ _ N B N S m S I 5 " | 28
= = = = = 5 ™ = - - m ¢ N
, ol 4] <[ —[[ —[[ —[[ m Q N H < u (1R = (1= L l|= E i o
5 = 6L = mn_m_ e a P P | BHHS N i 1 ~ = i i— -
N i W[ w w w w EEE _ - b | f | 5
, i L] | i i 1 i i | L &
f : - o 4 5| | ] 0 5 H M M M M TT10] | N
.0-¢ .0~T| .02 .0-¢ .0-¢ .0-¢ |.0~T| .0-C .0-¢ (N ! L I ,
, , I , —
| H | | % % % | | % % e - R "
! M = H H = = = = u =
TR = 0 .| H H - - - , by
| T T W I | Q ¢Ho] | b
T - - - - - E - - - - ] \‘:7 N 7 .V._HI_IH_ N | | | | | | .| 11 4.- , " - i
i | — A . h : = H - ] |\W| 1 ] ™ | m | 7 wv
ﬁ I | | | | | | | 1 I @ﬂﬁu?uuuum ) == o] €TLo] D | o
| i i i i i I I 1 g N [T u H & B H H H H N — il
: 720111 N O Y 5 | == IISHL I - _
3 ) ol | oy 1 1l ¥T10 N
L8, ¢-, = .c- f f f
o0 feepoeh peeeteel 0o HEH 0N e e g
m o T O , e e —" T s = S
m‘% \\AMILni o —glol T dror T glor ol T uror T dlolT yjo m,,C\\\m - —|— N T—T 1T —T T TS T T 1 | — S — . | - i - —= T
a n_lb H o | U U U U U U U U E,_I_, —1 % ” = I Il , W_M )
I b =J I
\\E\\ e g s e e ] g L] ® N O T T T W1 1 — | — | - 1 , - N
\\\\\\ \\\\\\\\\\\\\\\\\\\\\\\IHF I o T I 811D M
\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ _ 4+ Q. A - T o= === - g
@ N S
7 / -
\ (S — 1 1 | I— ) — | —  — | — S — S — | - 4k
n_ [ [6TLO] N o
i | n N
il my = o
! nin 1 1 1 1) | 11 | | — 1\ ((pma| —1 —1 1T
LT Il -
. B W ___.F_ 0¢10 5
n ﬂ L | .| I1 — 1 1 N Wﬂ
Nl 1 >
11 , .
o 1 T =2 11 0 0 IF 5
] 10 i) N
, lm . | . . e .
_ =
€215 05 H. H. H. H. HY H. B, RS 5
N 4 S| za | |IR o o o za | (2 || N &
0@|®||C||||C||C||.C||C ||||| ol [0 1 ke i
\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ 210 ~ mI\I\‘HM | I N [ I AR N AU I NN N R \I‘J\“H\I\.ﬂ _ _3/,
< =
| m 4
| O N
|
,
|
f
.8,9-T .9 f
f
.80-2 |
.0-Z2 Wp0T-T .02 ' .02 ' .0zt ozt ozt ot 0T T 85 .02 el 02 1 .02 k9T 02T 02t ozt ozt ot 0 9T 02T 0]
7
|
.9-0€ f e
!
7
0T-.S |

SECOND FLOOR FRAMING PLAN

1

ALL CONCEPTUAL AND ENGINEERED DESIGN WITHIN THESE DOCUMENTS MAY NOT BE USED TO ANY OTHER PROJECTS OR PRODUCED IN PART OR WHOLE WITHOUT APPROVAL AND WRITTEN CONSENT OF TAYNR, INC AND SPRAY ROCK, LLC.



\ \ \
\ \ \
| | |
\ \ \
\ \ \
! ! !
| | |
5'-3" 51" 12-3" 51" ; 20-4" 515" 14-9" 51/2"‘ 4"
=h : 3 g X :
(56 J @ | I I I I L I I g I
| \ :
A ] T N
i A : oz all
| | |
\ \ \
| | |
\ \ 2, . \
S | Q ﬂ | % % = | o :
N | ~ ~ = 5.8 ) 8-0 ] 6-8 = ~ Sl 5 B
o ~ \ < \ 1 1 | ~ o
@ \ = 1'-10%," WL | 3-6" 7" 34l 6" 36" 7" 34l 2-113)" \ %@
| | |
W6 - 2'-4"
| SW6 - 2+ SW6 - |
‘ - — Y 32 4_ / L W6 |
\ o — oy S-2 - i ‘
| we 4 gL _ m) | LTy 3 3-0" |
: 1 L . s 3 L6s o = E T | .
3 | {10 s LI Nl 10 N o || \ FL
N ; g@ |L28] %g | E ; E ‘ ‘ L9s| [ ;
= ‘ 1-3%"| |2 961" = 1-10%" |31 2'-113)" | 9'-69" | 2'-115" ‘
= 7 N23 = -
| | Jd 1 8 o
| | N46 | ©
\ \ N44 1 \ ™
. \ \ i \ )
S 5 | | L o
o (I ik * : i
| | 13 | 1 o |
‘ ‘ N~ (o} ‘ =
" | ol | S T
= | L = | |
% | 2| . s
2 \ S| e \ B | !
N~ =
- 1 P+ H \ — S
| N | . ] 7 2
| F | I g[T—=r »
\ \ D \ | gl | .
\ B \ ] \ = :
o \ \ | 5-615" | i -
9 | | | ™ G
) ! = ! 3% | 5-3 |
< \ » \ 1 sw7.1-5-3" [T -
i \ = \ S — e — — T Ht o
4-5he"  f5 8 ‘“’ NG9 | |1 ;
1 L 7 pzd 1 1/j N69 g o IN75 T1 1 ‘ Lr,) N §
- 4'- I "H - ~
& : [ I_23|| u o 11— ; N ® 5-0% il | HERS
=~ R =0 2 . ‘
: ) N ; = o ; Z = » 51 ﬁ i ; |
e = = . [Te) , . . =5 N -
L 3 H [N13J 41 3 F 6, 11 5 o L N9/ 1 = NEF
R = = 0 — 11 [ O t- T T T T T 1T " " TNas T H T ****; ***** N
™~ — - - — | % T Rl | &
.. I 2 | E) 1 & s}l = C o |
3 S | S = | 3| s
1 = — 1 T
N ZH ol ® ! ) _ & [N39 N4g] ET;, © @ < = I
51 C19 | ¢ . i 3 =S || = i &
N N = : ; 1Yo = — KN )
::] i (] Hes I I | ] n2s) 2 ‘ N 1-4" - 5'-0" : = 1 &
1T e — — = - - - © I I <
4 WL 3-1 ﬁ SW8 116 H J‘i@ | 3l 6-4" 3l Sl g Nne7l |, | B
5 : 11'-7 6" 29" | ] ' 0 Tnes 1 3-3" | N
1 N | - =
3 T S ! E [ s | 3
R (N ! _ [ ‘ 0 /=30 ‘ n | <
. i i R | | 13-6 1 |
2 - ; N s il 3% 3-6" £ |
: & ! | o |
= ; || QN I ;Ir ‘ -~ ‘ \
< | | in = \ X
E ‘_.| ‘ U w7 — — Q) | | X FI| | | 5 B | E \ ;r:
— © B \
o iy = B - MEIEE gl ﬂ 2 3 | g o
: 5 Bl - MR 5 &2 5 8 A -
- i IS 2 = 5 | 5 L
3 il |5 = | H 'H = N = | %
| H gl | 2 F = | ~
| | i . . © \ :
e 3-615" 2 141" ! 105" 1 | =72 11-10%" 3l 5-11" L 3 | S
N | | : r ‘ < < | ™
3 3 N > | | m |
N K F Al I L113 =2 ‘ .
© | |9 © © | | | | | o
e ~ W H = - I I | =T
| 1 L 5'-81546" | | ‘ “H % swi-s10r | | By §’.
~ ] SW9 - 5-9" | @ N | =
% = L22 L Y [136] el | L H L3 = | gk
: il I 1 1 i I il T T T | 2L
B X =B —
oy °H & b 3 5 s < (2 313 | 561" | 311l 59" 57hg"
© | S| H N L45 "5 5 | Q 3 = ‘ | |
” | AT i > } = j H 6-27he" ;
= | & ‘ | L67 L67 ] |
< ‘ 3 |
i) ‘ T o ;g ‘ o
ST » 8| 3 » g
: : :
- = 4+-—-—-——-—- -t == = — = — 1 F—— - orrtHf--———" . === 41— —"———- " —-
5 | 0 = |
N \ \
,,,,,,,, 0 I I I L i e L -
| m ‘
] I I e e — =y s - - — — = _
(% CE ‘ : E
— ™
‘ ' " ;_I| ‘
@ | 1-5% 773 9-11%¢" 1-115¢" |
| |
4lhg'| 541" E%JJ%" 9-1" E%JJ%" 4-10" 57h6' ;
5%he" SHEAR WALL SCHEDULE
20-8" 34-1"
‘ 49 i Length of Shear wall (Min.)
| / Ext. walls - "SPRAY-ROCK" sprayed
3 5 | i/concrete shear wall, 3 inch thick
|
J : (% Int. walls - X-bracing (7.5" x 54 mils)
' HD per Schedule SHEET NUMBER:
|
Refer to Plans for Specific Transfer &
Connection Detail at each Shear Wall Location
For SW13 use X-bracing 10" x 54 mils DRAWN BY
SECOND FLOOR WALL FRAMING PLAN SHEET NAME:
1 [1] 1 n HOLD'DOWN SCHEDULE DZ
Seale = SECOND
TYPE HOLD-DOWN ANCHOR / EMBEDMENT QTY CHECKED BY
5/8-DIA F1554 GR36 WITH SIMPSON EPOXY ADHESIVE "SET-3G" MK F LO O R WAL L
' SIMPSON S/HDU6 g 38
MIN 6" EMBEDMENT F RAM I N G
SIMPSON SHDU9 | 7/8-DIA F1554 GRS5 WITH SIMPSON EPOXY ADHESIVE "SET-3G" 19 PROJECT NUMBER
9" EMBEDMENT P LAN
SIMPSON S/HDU11 ;‘/'8E-'\I2IBAI\EIB1M5§4N$R55 WITH SIMPSON EPOXY ADHESIVE "SET-3G" 4 24-113

ALL CONCEPTUAL AND ENGINEERED DESIGN WITHIN THESE DOCUMENTS MAY NOT BE USED TO ANY OTHER PROJECTS OR PRODUCED IN PART OR WHOLE WITHOUT APPROVAL AND WRITTEN CONSENT OF TAYNR, INC AND SPRAY ROCK, LLC.



|
|
-
|
e B N

4 S Y e M I S BN E S L R EE G EEE I -5 EEE E- N | Lo
| : i | o
| :;. - | | | 7
il - I [
| B o | P | |
R ; L , . , L
“:.. ﬂu* "_ | ,
7 ik WL i1 7 7 7
| 3k L , , I
Ri I B | A | B
] ! .
g i S | | o
R I 3 [ 7 | | "
b i : IH_HHE,\-T-- — ! !
R i = - | |
) {1
| fud | | Lo
m i |
i 1l : i i i
| B ! !
i i o
, ‘:“ :_ |
o o , ,
| It 7 |
A i B ) e s s s e it g
B ﬂ F 7 |- "
(I
b b | | ey
| i B 7 b
, “:" i1 F 3 , i |
7 ] w& - 7 7:, |
8 I s S
il i Hh il
7
i i i , i
7 u_A e L £ s 4 o e el L i Upmu = HH Jm 7 7 M“u,x |
” s N S I S s . S AR N | RS I 1 = _{ ” T,m W
z T f 1 i o
| ) i , i SR |
7 5 ¥ | i | g @
1
| A A O S LA = L | s | | 7
7 I i 7 i_” |
, , H , N
7 7 E 7 ey !
, W B , gl |
| | | B | 1t
| | | || | |
| -
| @ 7 N mk B . 7 |k= |
, w_u | , ] - G B B D | g T L2 e e s et £ f
7 it i 7 E | 1ER
, il & , | , BN
| it 1._ 7 R | 1=K
, ! S I i
111
W k i B
o 7
| M_u, WO 18-5 | Me1l-¥ i | | i |
I I
! i ! It ! |
| _“, R | il | 7;, |
U |4 ;, ;,
| o = | i | B |
i =0 i il
7 1 — 7 I 7 7;,
| m — | ar | UL 7
7 1 7 it 7 i
, iy , i , LitR
7 gl 7 ;, 7 7;, 7
uk 1 I 7
| 1 | 1 | Rk
h b
| ki | i | Iz |
! it ! , ! !
| it 7 | |F3 !
| iy | <A S B S I R i St L e N
3 |
-t = — = e - = — & #\\i\#\\\
! B ! ! ! !
7 | 7 ” 7 7 "
! i ! 3 ! !
I g L .=
i Fy-cccgge-cogpEo———rR-——ga g P ———————— — — — —— —— ———— ———— —————————————————— N RN ”,u, i i |
| B % ! Ul P ! .
Rit B | ¥ x | |
it e | X % | o
7 _,. 1|1 7 [ ==/ 7 7 ,
B it , /) B , L
it i 7 & 7 |
R I , i | | , L
I I
i i | I % o
i | | _ : A
1k o __ i
i i f 1 B 7 |
Wi ik , ! i , I
') nh | m | | |
| §i4 ik 7 ! i
( 14
[ | ! , T - ﬂ; | , 7
B ik e fum it | ! &
i It , i , L S
[ i | i | |
11 !
| il ! & , o
Wi & B | |
B | | A & | =
B & N El :; W o
u ———— g ——— =l r——————————— = - - - - — T====TTr
7 h ”\ - _w‘r’i!iizv L Y T A Y O E LﬂH I P YT 7 7 ,
"  B----3p----Ior-c-EEocciecd naw L BrrorccEESCE LW Gw L Ge Eooms-c-cEmg oG Le = ! L " " W
- |
| | | Lo
| , | I | | [
| = ! “ J, , L
| : : & o
, ¥ - % , L
(. (. 7
7 N N N 7 7
| F [ [ 5 | .
o _ I L I = ,
| 0 5= W O O 1T SN MO SO 3 | =
7 7 7 |
! ! ! Lo B
7 7 7 | &
, | | Lo
B e r\\L\\"\\\LW\
! ! ! !
7 7 7 |
! ! ! Lo
7 7 7 |
! ! ! .
7 7 7 |
! ! ! Lo
| | | | .
, , , I >
7 7 7 | SL
! ! ! .
| | | |
! ! ! Lo
| | | |
! ! ! Lo
7 7 7 |
! ! ! .
e b — — — = — = — T\\L\Lﬂ\\»ﬂ\
! ! ! !
7 7 7 |
! ! ! P
| | | Ll
1 .9-0€ 1 Rz 1.0z 1 .07
| | | | ]
1 0T-.S | | |

S4.1

SHEET NAME:

2ND FLOOR
CEILING

SHEET NUMBER:

FRAMING
PLAN

CHECKED BY
PROJECT NUMBER

DRAWN BY
MK

DZ
24-113

Scale: 3" =1'-0"

67'-3"

SECOND FLOOR CEILING FRAMING PLAN

1

ALL CONCEPTUAL AND ENGINEERED DESIGN WITHIN THESE DOCUMENTS MAY NOT BE USED TO ANY OTHER PROJECTS OR PRODUCED IN PART OR WHOLE WITHOUT APPROVAL AND WRITTEN CONSENT OF TAYNR, INC AND SPRAY ROCK, LLC.



204"

15'-8"

20'-9"

L
.0-T .0T-.8€ OT-TT .2-8 1.0
! ! ! L
7 | | | | | | | | | | | VT ) P | | 7 |
JeS| 02| W02 | W02 | 02 ] 02 ] 02 | 02 | 02 | 02 | 02 | 02 | 02 Jer1 .02 | W02 | W02 | w0 [W0tT] W0 [ W0 [ W02 | W0 | W0 | W0 | W02 | W0 [8] W0 | 0T ]
7 7 | |
, , 3 , L
| | E | |
! ! ! L
| | f |
, ! o N ! |
Tt [raa | o 2 | |
, , - - , L
R B N e e =] | | | St S| Es [y e | St S | i f B | Rl 25000 i A s il it Al et - I e i i it it LO
, BT ! !
. ﬁ 21 = 21 21 z1d {| €S L1a] | | W
7Om.w.._|ﬁ_j | 3 | |
I 11 || 7 Il I J N 7 7 W
|08 TS || &N | 5 ) . | |
o 3 in 7
7 = 7 ﬂ 7 |
, | ) e = ! b
(08L& | . LI I - o | (€5 Ly =~ | |
, ol | <[] | [N ] [w o < i ! R D , |
— < ~ o ~ JIN ™ %) < < ©
7 < 0 = = = S El || ollE [ (T = = . 7 |
= = = = = = ™ 24 Tl o o o o o , ,
o x 24 24 24 24 Q = ! et i | 1 e |
081 _ > | eS| | | |
, , ] — , L
: ! = = = = = =L = = | |
: SwE: o ) [ [[8279] | | gc1d 3 gc1d i xf | ol o m o o £ o o %p E | S| o
N il o) |oe o & I - e / ) || | —T
: % i |
s Smﬁm: X ﬁ / 1T \ yi 1 ] —F f ] | 106 1] 5
l_ 1 7 -
N | E z A , il 68 1d 2\
] | B a1 5
i fog L], i , 1S i % | " wu
2 | 1 | = 88 | y
N Te} <t B = =
4 py m N i , - , — —_— M
osLd] _: i i i ” | 7 7 W W ” 5
K (08 LY : = / | 7 a 128 L Il | N
A} , T T % ™ ” ” . —
| |f |Pdd & '~ i , a4 , Il S D
| = o e | 28 1d]! & S
I m_o — 7 W T T T JR
—
= 3 = H ! NI :
f S1d o N S S | Il N
| i i i )| /814 i N
| ] i 1 1 1 1 1HR= 7 5 = | W —
" . sha] N H 1 3 m 7 1 M | T w 5
, N 2 | o | fog | || =L H | &
| N ) | / i m e e —
H@ _ H - a
" 5 XS] N %! " < L - 7 3 Togd] hj
, N , ¢ i 1 , NMEfosia] &
—————— [c0] T — OV —
7 B 7 1B | == i
T =
| 5 51 m o - 5 ! o a - a - - - ~ ﬁ =1 il 5
T ores & 2 @ S m | R s I i oste |
| . 51 ® | % = | 7 IR -
| iy _m o [T} @ S ! ! 7 &
| “ = 3 3 & \\ | © ° 2 e N | LlIl} J[oslH 5
! S S E E E E @ B 1 1o 2 N o x — o | i
1y o o o o = > < ! s | hy
7 7 o o | o
(=] m Lo = h o
" ° f e o [o8ld o
— = V il il
, o o & L , ,
Sy R _ N < | :
7 =) N IS ~ 7 | e U | | S U o@ I el THI m
, Y] m I , I m nlo_ ind | [TH N ~
f S "o f @ N @ | 1=
, < g1y = ™ , / / E , 1]
| @ ot % i3 1 S IS Nl g AFe] =
— =! ~N H LEH‘R : ﬂ : =
| e — | I8 N O Y I [ O 7 ' I SN o =l 1 1 I IS AN 1IN I I O AN MO O § = A=l _ L o | | |
i Sl i AT ) =1 T M —
% | 3 ! O ' & | lE2El ]l
- lhTay . , , ] N , , .
f — — - , ; f B "
i , AL = o [01g] o C] || [6€] N % 0T
& [osLdf || N 3 g | - | e
5 | 7 J | B b Gz 1|
= 7 i 2 | - L rosta | o
S [081Y] , o) N ) =) ) % Ie%) ° S © R | | |
2 | L T O O = I ! R == R~ B~ | > | o :
“ | | m m x o x x x o @ @ & B zdy @ " " | 5
; [nd o B T | N
E E = > o 0814
N 08Ld 24 | , |
o @E _> E | EIE 2 E 1 .
o | , x _=_ , o o
08Ld] : | T e (0814 f | N
; S - 1114 1119 AL i ﬁ S &
2 2 5ol | : | Sk
™ © o N =S
o el T === = = A P —
Y x [ x o o o o o o i | . . N | .
Gy f a © | | =
: : o ! = 081 ! L N
2 losLdf)l - 4 1] | « — | -
m_o | [o¢] _ k ¢dd | | 7
B ( g . . | | |
losLafil = _ » _ U i | o
f 21g 21g 21d i & | & 8 01 |
, - 2 - ,
i & 1 & | B "
: [Tdy] ] — &
2 , | | N o , L =
-1__ [ Wt M u 7 _—” - 7 7 |
o | = - i = & | ]
T 5 N | "
| " ] 4 | N —r | | L S
| - T _ | | | y
.1__ = © [Te}
- = e — st —fg-—— A gt —H——F4F——HF gt -FFH———f+-+ agtH —— A N\ St t -+ ————A————————-
7 ™ E o =2 7 |
! @ ! o ! I y
7 7 7 | ~
, ¢ ! 1 I
R S .| 7 (S e sﬂm - S > oV
, < , ° , L
| m | = | |
wes| ozt oz T oz = ﬁ ﬁ ﬁ W
| | | |
| | | |
ﬂ .07-92 ﬂ WZ-lT .0-2 | W0T-€ |
47 .9-0€ Qf v Qf W07, 0T
f f

SO
ROOF
FRAMING
PLAN

SHEET NAME:

CHECKED BY
PROJECT NUMBER

DRAWN BY
MK

DZ
24-113

Scale: 4" =1'-0"

ROOF FRAMING PLAN

1

ALL CONCEPTUAL AND ENGINEERED DESIGN WITHIN THESE DOCUMENTS MAY NOT BE USED TO ANY OTHER PROJECTS OR PRODUCED IN PART OR WHOLE WITHOUT APPROVAL AND WRITTEN CONSENT OF TAYNR, INC AND SPRAY ROCK, LLC.



+27'-91g"

+27'-271g"

‘ s ‘
; /’n-\!\ ;
\ g % g \
\ S | & ”; \
\ 5 o 7 |
5 °/! ! 7 | +23'-13)"
\e»«\ A\ I I I I 1/ | !
T . . . - s/ P : b
] = - | ! | E ! !
i I I I [ [ [ (e \ L | |
I ’ \ ‘ | |
1'-33/8"‘ | ; 1'-05% 109" |, | ; ;
I
s . \ . | \
L | | |
B ~IRE | : | |
b . | i e | |
LI %@ SRS \ ) @ \ \
[ . \ . . \ \
" 5" 14'-9" 54" 18-1" | 2-3" 5l 12'-3" 51 ; ;
a 0l | -0 a}.) \ \
4 | 4 | | ] +13"-1%"
<
e ) - I S JEC R
. . n BL1| - s : | - -
Lt | 7 | ] A fime @ +L10W
! ‘ } H —
BL6 BL6 } BL6 BL6 } I {[cT35
= : =, : =11
. \ B5) \ i
T I \ L] \ of: |
; | | I
\ \ Ll
| | !
| | I |
| | |
& \ \ |
™ ‘C_3| | o | ~ I
° : : e
| | ||
| | |
7‘\‘ 1] LI 1 1] 1 0 1
| | ) +0"
\ \ | |
S 5 U - #777 verro ooy~ - """""""""\""""/"">= 4777‘?... F 7777777 i
| | [
| | |
\ \ \
| | |
| | |
4| 12" 13-10" 1'-4" 17'-5" 1-11" |1'-4" 17'-5" 1-3"[1-2"| 4"
341" 20-8" 2'-9"

1 =ECTION

Scale: 14" = 1'-0"

|
|
| oy
|
\

| | |
| | |
| | 2r2% |
\ \ \
| | |
- | NN |
\ \ \ | ? |
| 1 l \ ‘ +23-13"
********* B / WYINNEAMN N\ _I7 1771 \ g
| | mili T i i i i i i 1
| | NNNNIZIZIZL/ ; NNNNIZIZIZL/ A
; ; N o ; H — H12
; 211" 24" |'| 2-01" 931" 3-10" 3l 33 4-0" 3-4%" 33" 3-4lp" 511" 931" 354 |l 4" 20
| N 330" 33" ]
| | 3 [ |-[L107]
\ \ 2, oo 2, ,
| | H S | u L S
| | |
| | 1 % il
! ! = . §
N | <
1 1 1 E;{'.l +13|_11/4||
777777777 Lf, | sl el '—,63;44‘*:“,,,* Coweol | I el - - Log] 7777777%" B
T ~ 1 n
| \ \ L | NG 0 7 /{; L +11:0%
77777 - ZZ =T o r T m IN | HIZ 1 Z 1] "y
| | | | | | | E ™ ™ | |
; ; e
| | | '
| | \ \ \
i \ i
\ \ \
e | 5 |
| f}] \ 5}1 i N |
| 5 | S [Le4] ] 5 caa |
B f \ f
\ \ \
| | I |
| | P g 1 ’
\ \ \ ’
‘ ‘ ‘ “A +O||
| | IN46 L99 L123] |- {
7 : N
\ |
| | | |
\
4" | 25" 171" 16'-3%" 9lp" 14'-3" 1-6%" 20" 5" 3-0Yy" 931" 283" 5% 18"
1 1 /\1 _111/2 1 1 1T 1 4"
29" 20"-8" 341" SHEET NUMBER:

®)
@)
®)
C)

DRAWN BY

2 S ECT.I. O.N. D7 SHEET NAME:
Scale: 14" =1'-0 CHECKED BY STRU CTU RAL

MK SECTIONS

PROJECT NUMBER

24-113

ALL CONCEPTUAL AND ENGINEERED DESIGN WITHIN THESE DOCUMENTS MAY NOT BE USED TO ANY OTHER PROJECTS OR PRODUCED IN PART OR WHOLE WITHOUT APPROVAL AND WRITTEN CONSENT OF TAYNR, INC AND SPRAY ROCK, LLC.



STRUCTURAL

. O
m LLi T
= = @)
— —
L L
i) i L
5 5 (0))
x
11 ]
s
> -
> . z
m m] ~
> w O ™
X | -—
E N [ X |2 <
o A |o = L o
< < z
& 3 ¥
S 3 W —> —» Lyl
3 S | [ |
w & n__ N ST 870~ JE0-¥ .87 ,__o-_H Wfr0-0T 7
+ + + ¥
, , | | |
L Lyl | 1 9L 9-€ ]
| | | | | , ,
ol vl | | i |
wn ] Jel .0 " Y "
O I H
| m/__ 7 ! = /7 N\ T T T T e — ‘HT‘AMAI\W“‘} it N SR J\MW‘@
\\\\\\\\\\\\\ \AW.WW\\\\\\A"LZM.\W\\\,*,w\,\,ﬁ, T b @ W =1 Ll oo | J %_M
, 1= 1 W.u oo # | TT11
_ ] LT , , | B
N
| | | = || 5 | 2
= m | | le <l &
f = f | = S
| | | ys= i |
y/i5i = , !
f f |
, , | | \ﬂ (=}
> __ ﬁ ﬁ = S
d D i , LT in
= _
————— W_O. o — | - g : =
S f | 3 N o
o mn_u | / , 7 T I ] £
7 =3 o [ev N e Nean) L
NCE | | T0T1 0
_ TP e = © | | 0-8
' H ﬁ < _I_l. 7 O " '
[ % ﬁ S
2 | |
: | T
. o) , !
m | | e
W . | | ! e .
7 = - = | e2-8 1 . — 2
)7 = .Wo., —e ] | | it | — M
B W_ﬂu_. 7m [SSH | 1 nA«w 7
—— Sy l—— TN , Hﬂ
. EvN] @ f f
! 5\ B ! ! ! X L .
| m — | : I " | L v40C ) |
| < | | | =y 2 Zh2-9 VeT-¢ [-th0-C S 28
| 9 7 | 7 St 7 7
i , ! ! .0-0T 7 !
— | | WJ W — = = %_ L _ _
L | = | 4 5
, SEN , W.A } r—d [
z , , , & = - :
M’:u B 7 7 7 . ...._/._ 4
0 I =N — , RS 4
g G | | | < |
™ 3 | | | ~ . ) , .
% i i | ”A_.. T —T—TJH S % @ M Wm_
[ — , =t | = il _w_u
| | | ) |
| 857 BN | ,
“““““““ C [a=) [ R T
[ o m— a g %
[o0)
| w\ Il = .
". 7| kY | = T
8 g N | o
_"WB _W_, ﬂ - M_V . l o )
= Ik . m . N | S S ] T = S N BEN
= L] N I - : \ T —T , P, SIS e Y S CORN
— H
; == 71 "1 M_L. _INo il (T @ = = ” ” W \ W
3 o) | 1IN N o 3 | 5 |
e~ m , N : % i —] 2 ,
7+ | i ——— == . f & 0 | f
— i o , — [ , - , | _ ,
¥ o | | ] - Y |
[ | | R — | | o |
. : | f | = - f
A/ m_o L :N\HN | , — W j !
: o T8 Wl wrl Tl f , 4 f
— ! , , !
| | [T2N] | — — |
f f f || ~ f
—3 | 3 , [ < ,
.0-6 7 f | - > |- R~ |
— -
— B L] ﬁ - ﬁ B ﬁ ;
.. \_ i i i N _06 i — i j i
i : . " , " % | T "
\ 1 + = = [ i 3
\ ® | | % | 3 |
|| BIN__ | | | N\e= =5 — e |
”.J, () W_ [ ] _m_ w w,/_ 7 ” wall_ YA W ” Wq ”
7 EIN | Q | | [ |- |
‘ _ | a | | 9 (I | 5
d .”/_ -8 A_H#, <« | | 2 [ | )
C - = N
o~ | TIN] f f : || : f
I z | | | | | © |
| © ;H* , T.V\HOH:.H 7 :N\H._Vn.m ” | |
2 7 N 7 | | |
2 , I5; , : ! _HL — !
= - — | 3 L J |
=10 I \N coo ] ! S 7 N L Nl\e“_ = I T ]
“““““““ - k) _ N o ' O ‘w‘““““““““‘4’“““ PR | 7 7 7 i
Ho e | | ; ; | g | | >
(] o f f 5 > &
| R —— Si— oo | /AN T IR AT T T T T T e T —]
\\\\\\\\\\\\\\\ 5 B =t e ——— ' © 2 | | |
f = I | | | f
| | @ i ! . , | ,
| m | AR | | |
, @ , o F , , ,
W W (1w | 0 W W W
| | . @© | | f >
0 . < e
ﬁ L8 v & ] | °
, , WTT-L = X i) , , |
N o P 0
ﬁ ﬁ g 9, 3 - ﬁ 2
| L _ o @ | | | N
, , T C , , , O 9
| | | | LL | | c c — S
| | C C I e SR A - | (7))
S B R — S e = — — ) | | | i QO
, , : / LR N ! ! !
| | ) 5 | o™ | | | LL]
! ! N _ | | | |
f f f ™ f f S

+13'-11)"

@

ALL CONCEPTUAL AND ENGINEERED DESIGN WITHIN THESE DOCUMENTS MAY NOT BE USED TO ANY OTHER PROJECTS OR PRODUCED IN PART OR WHOLE WITHOUT APPROVAL AND WRITTEN CONSENT OF TAYNR, INC AND SPRAY ROCK, LLC.



+28'-10%"

+25-13)," 51" 6'-01h" 4-0" 4-10" ) 6'-815" 51
H i 1
] ] ] ] 1-6" | 2-2%" | 3%, 3-0%" 93" 2-4%"
— H = | = - | | | 31/’)" | |
= =X . a3y I | BL2 1 B 1 [BL2]| BL2| _ |
E T i +23-13) . | | [BL2] : 5 (B | _7 | 23-1%"
- | \ %1 EF \
e > : : — e B e B -
L ! ! iy ; - H =ia !
L u ﬁ ) I =
I | — =l I |
I ! “ !
Y | \ - \
== : ) I | ~ o . !
N : =) | \ N \
= |L51]— o I ! : !
11 | | | | | |
|1l | . | | gl . I] |
i 1L | \ O\/ f |
4" 51" 7-0" 3-6" I ! 0 7\ e (o S, |
14]1-8% ' . \ H Ol B - E 0 E 0 =t \
U Z ™
. \ \ \ 0 _ 0 ;1 =10 —|(10 o |
| 47 I a =05 | 1Al
4 it=al | o [L16] L18 Mz el ]l L33 \
. 1 S N I ) N | L3 S B O B R = ! g Al | I 5 N gt H | H o o Ho ~_
~ i PR (o TN T (32) = = NS o " | | | = 5 |
B - xS 11 I X Wil ] i | +11-0% o [N ! N W @// W Y N | NEF i +11'-0%"
‘ S 1l /= i ] H H 225 N i 4 [ T NN N N I I/ I I, s e K N 2
T -t I /] H N\ Z‘D | L] H L 7 ‘CP ] ‘ N \ \ ‘ || I !l\
— mli - B E'Ll =1 T — 5 1 77:ﬂ_ﬁ77 1 o 1 é é ﬁ ﬁ % % é ﬁ %:7757%7474_77,_ — - N - — I - o o H_ _
k| L55 1= : n = LI - 3 | M | CT17 | »
- i - 3 i i [ r C [T ny
;'ﬁ L +lol 0]/ " I “ | | ‘H [E |
i 0 0 |, 2 | | [l | | 2-4"
1| . | . 4 | o | 0 I 0 | 0 i
-H= — o—c— =— — =N 4‘ - Il —
Eh o }H \ \
: a | ‘ ] | |
N ™ Il
) ; . 5 N i I . | |
S L43|—T = i [L101] L24 J‘\ It © li & 0 | - |
| ] ) 7 \ \ — Oy — | o < ‘
5 8 ' L111 | ‘ ‘ (@] ‘H — O | % |
1 ' \ Il }H - | 2 < |
1 1] i ; | m I | — |
~
] ; o \ Ml i \ \
| | 8 of o sl I | |
10 i - 0 oF o :'Hm }H 0 | 0 |
N . n B
4 1D | 3 L15 L29 L30 ok +0 ; ll \H | | +0"
[[L54) L56|[ 1 HLL3] § ! I : ! \ | ! F
JN " 777; - i feven o o o o s o o _ 77#7 ] J‘, 7777777777 e ! 777777777777777 74} 77777 -
[ Ho ‘ \
| |
| | \ \
! ! \ \ \
\ 93" 6'-41p" 93" 1-31" 2-81" 73" 2-10" 1-13)" I ! ! |
! ! ! ] \ T 101y | \ \ ‘
4" 54" 2" 4'-454 &" 14'-63" 31m 4'-4" 277" 1'-45k" 16-215" 51" 8'-83k" 55" | 4"
4"\51/2" 7-0" 1-8%5"| 2-3%" 80" 1-10%" 471" 4'-10" 51/2"\4 | y % 16 4 az | 8 231,2.. 2 = 8 o
\ tlrely ! 51" T \ 1'-0"‘ 2-0" 24'-4" | 30-6" |
L h < > J @ @
5 SECTION 6 Sca|e: 148
Scale: 1:48
. | B B i \ |
L | (] (] ! |
1 1 1 | | | | 1 1'-0"
1 \ \ \ E o i
| | 1 ! | :
| \ f | i \ BL2 BL2 BL2 ' - 23-1%"
; | | A | 3
\ \ i i \ / | / / \ 2
- _—— - ¥ —
‘ : = = H H =
) 1 I] - [ [ [ [ - [Ha)
1 ‘ ‘ - ~ EF B 24"
| | H
‘ = =
o _
. | & & 2
L - -
o ¢ iz B -
L | ‘ S N22) = e
| | . e
o | < <
I | 5%"{ |l||2"-0" 841" 2'-8" 3-0%" 3| 2-7"| 6" 3-41% s _F.' q -
| | 1 U 53g" 3L ot 0 I~ i
o \ L (=i S~ S @ +13-11"
1 1 | 105 \ . L37 L38 L39] S~
S N - TS S R — = - |} i (R | R ) S — = k. - —
| ‘ - & [ ‘ = = = = = — NS . .,
) H u n — . +11'-0%
‘ Q | | u 7 ) 0
] N / _[ SN AASAHA| B
" i [ — [ — [ [ _ - R — i — S p——— p——— — L= L = (a9 O = —— Al — ¥ I — - — — — — =mﬁf
2 | te7 | BT | B6l | D
E w | | .
Qg \ o | 51" 2'-0" 21-7" ‘ 8-0" 8-0" 2-3' 3" | -
o \ ! 1 \ !
\ \ \ \
2 | | ! |
] \ \ \
b | | |
| | < | 0 | .
I | S ! > | g
| \ \ \ S
. I | ! | >
G . | | |
™~ b | | |
. | | |
I | ! |
| \ i \ — \ .,
. ! | ! +0
. \ \ \ {
-t ——— - — = —_—_————— | = —_————— e ——— — — = — e
| | |
\ | |
} | \ | |
| | ! |
| 4" | 1-8 3-2" 2-0" 14"-615" 3Ln 4-4" 201" 3-23)" 341" 5-11%" 341" 2'-83)" 9-2" 4"
\ T 34,
1'-0"{ 2'-0" 24'-4" 30'-6"
7

Scale: 1:48

@SECTION

DRAWN BY

DZ

CHECKED BY

MK

PROJECT NUMBER

24-113

SHEET NUMBER:

S8

SHEET NAME:

STRUCTURAL

SECTIONS

ALL CONCEPTUAL AND ENGINEERED DESIGN WITHIN THESE DOCUMENTS MAY NOT BE USED TO ANY OTHER PROJECTS OR PRODUCED IN PART OR WHOLE WITHOUT APPROVAL AND WRITTEN CONSENT OF TAYNR, INC AND SPRAY ROCK, LLC.



4" {51/2.. 4-61" 51" 241" 51" 14'-1" 31" - -
1 H 0 0 H A
_ || | M
/2_ ] ] M
|l | | | I
Il \ I g | |
] ; \ : \ 3 - z H i
#2541 1 | - | a g
= 3 — || g i | = 5 8
2 B s O 4 | I
2-4" | I'H = = i | | 'y +23-1%"
g [ | - R
‘ ‘ = = = = - = 774=777:,J777777:77=\;7_777_,7775777577 N P = N
\ \ \
\ \ \ |
| | | "l 0 |
UL \ 1 | \ |
= ml | \ |
= 11 ! ~—X-BRACING PER . \
1 | 1671 | | SHEAR WALL SCHEDULE I |
[lL7o]—{4 | | | =] |
T | —[L3s % | ) |
\ \ 2 \ \
1] \ —[L59 \ \
m o , ‘ ‘
\ \ | 4 _ |
\ \ \ \
5 ofl \ 0 0 0 \ N ok \
! | | | " n = g [1 |
+12'-9Yy" N \ \ |-l % | : +13-11) B < |
, It s ifl [BLE] . L [BL5] | L | | &y i ;
L g e g g g ‘ N a
e e ?;#I ‘ : 5 +11'-0%"
i gl I\ ‘ | & - Vi
— — -f : ‘ i ‘ f s H- = — e ———— - = o= g ““68‘ 38— — — — — — — T— - — —7—77— 4] = oI I T 7 ——
vty | TS mH a1 i o1z ||
g1 ~ e/ n oA
Toll {lo]l ! ollll 1 I — —0 9% ﬁ 20
1l | I =, } ‘
I all = ! -
1 | ~[c24) e W | |
rzang o (' I i o SN 52 R |
- T = o~
| | L10] ‘C24 | . | ~ |
| | > S2 = 1= o 1|2 |
\ \ % = I~ F \
L] | i MaoT) | \
X-BRACING PER — H i .= s
SHEAR WALL SCHEDULE | | = o S | |
\ ISSSYA 8 NIEN \ 0 \
! \ |- ~ i = A i \
-Joff 1|0 off{l I : 0 e | [0 \
= 5
[P BN N o ;
=
1 L43 iyl L48 | E L47 = \ \& / ] N~ | | |
r - s 9 9 1 7 R
\—J | | ‘ ?o | \
! | | —
\ \ \ \
| | | \
4'5%" a6l 104" 1-53" 3-0" 8-0" 3-0%" 34" 4-4 1-01%" 29'-2"
‘ 1T ‘ ‘ 1 6" ‘6u 17 31/2"
10" | 2-0" | 24'-4" 306"
» B 0) ®
8 Scale: 1:48
4..WL 551" 210" 154" 31"
il \ i i \
N | =, |
(1 i w
IR I ] 0o ] |
\ \ il i i i \ [ \
1 | | rf | i i g Il i |
; | \ H B ' ’ ‘ I I ] | | |
+25'-13)" - ‘ L 7@‘ AW [ \: |
\ 11! i | x R\ 1 s B \
Y 07 & ‘ ‘ =i ‘ RN | S e I I o I I - e = I I Ny & E— )/ ,,J i it PR I S = EE R == - - — 3 ‘
] i i | | +23-13"
S -194
\ \ H & \ Ly \
gl \ \ 1| | >’ﬁ> |
I 7_f : | | B | 5 B A — o — — o — — Ul end — o e - N N £ o — = = A - — . .
+23-0916" = | | | RT5) |
| | | / i | | |
\ \ - \ \
ul | —X-BRACING PER , |
‘ ‘ SHEAR WALL SCHEDULE . ‘
| | | . |
Al ! = ! : \
L78] ] || \ \ ‘ \
11 | : - | A |
\ \ \ \
R | > | =5 |
" 1 | 1 ™ ‘ - |
1] | 0 ] | Zll | 0] | |
| | % | = | '/ s12)
R i Y [ R | 1[N BL5| BLE] L _ | 5 g _
| : 7T g - - - - - . ! } 5 > | | +11-0%"
n | ‘ . :
[N |\ e | y I L NA 7T
——— ; : =< 1 —— : : N 7 S
| | T M 1T 72 1 H 2 B13 | | 1
\ ! = R : o | |
| | LS | T -
of| ! 0 ollf 0 1 0 !
X-BRACING PER — ‘ ' 0 (S .97k e
SHEAR WALL SCHEDULE | SCHEDQLE 8
\ \ \ \
L21
.| e wsllg . :
ST e = g 2 |
| \ S, \ =l 3 \
Hii ; o \ \
1l ! «© ! !
Nl \ \
o ; ; 0 o | \ 0 ; 0 ;
\ \ A | w ‘ +0"
(P s 5 | | IS | v
aml | |
\ ! !
T | |
| | I |
; | | 5" 55" 43" 1-6" 6" 4-4" 8" |
\ \ 3" \ \
4[5l a6l 5l 8-0" 6-6" 1-10" 5-615" 51" \
] i T 3 i | SHEET NUMBER:
rol | 2o | " e
/
%
@ @ DRAWN BY
SECTION oz
Scale: 1:48 pr— STRUCTURAL
MK SECTIONS
PROJECT NUMBER
24-113

ALL CONCEPTUAL AND ENGINEERED DESIGN WITHIN THESE DOCUMENTS MAY NOT BE USED TO ANY OTHER PROJECTS OR PRODUCED IN PART OR WHOLE WITHOUT APPROVAL AND WRITTEN CONSENT OF TAYNR, INC AND SPRAY ROCK, LLC.



SHEET NUMBER:
SHEET NAME:

u4 N
3 z " 5 ¥
2 = ? = - @ "
+ + ¢ « S o
W , w_’L L H.L + |
\/
, T W | | | |
ST .0-.S 8y TT-E .81 | | , | |
| , | |
0_ ~ , A r __.v\m 7
= o E | _ 5 vl 81 |5 !
| — m i
N ¥ | B N , , ¥ ,
o | e e ——— e TR U S 1 T 1 T — ) 7 e - e S N
3 | s e . e ; (w) ==t 5" FIN=E= T (W
A% [€1J] W , OTH , f
) 7 |
< _ = |
= M 0 " = ITT T | 7
I , !
) ) 7
M W ) , i | i
% = m o 7 , | ,
Ny [ =[98 & S X mAWn ” Hﬂj kY , N wo W
—_ [e0] [ee]
/ o Qu , | i | \ : |
h | — 4] o n & ul | Ha”ﬂ | i |
. H H
\Y 4 ) ,C X W BN ! |
110 - SN I Lo | © 7 |
L.W./_ o T SN | m | W
( O E | — | 7
o) 1 a N TN
= I | [ X157 3 | [2TH " |
o = — — o |
= | | 1 [0ZD] © | TN
0 "~ ™ f T 7
i I II HEHHJ Wm —1 ,
of < | |
\ / \m < m 7 | N\._”O._uu 1 | ] |
I L mﬂ “_H”Hl, | .WOM W
\ / \ 97N > K W W ? W
|
[ T I X T —T f .
= | | | e
, - f -4 @
— ; N 7 | or HEHnL T N
~ = A=} ,W.a
3 i | m
— m \ | =

Jl

85"

|

SHEAR WALL SCHEDULE

X-BRACING PER

) Z
st/

/

>

////

AN

|

wEJ

“ 7 o T—— am
YA 2 | SIN]
~N L
) — i S 4 3 ITIT— 1D
\ - Ge |
RS T I [ ya N\ T . HHH_H4 1D
T o
~ ] —
’ i o |
© | B S =
I 3 |
[T—T—1 ”\ T S I anJ i
N
\\\\\\\\\\\\\ L e R R e e )
N <t '~ =
W.ol 1T | @ m _HA_.. o ﬂ %
o = N e 3 | 2 &
= L 75 | | .
NI —— [87N] = D % — | = =
o1
WeZ-8 N ! - Vel- W | \ = N -
(3 , ~ 3 | R —_ 61 oM . m 3 &
7 Z WA_./_ [ ¥ 7 l‘u?_l
— —— ~ ] o — — I
* | ® S N
n 5| , uw. 7o) i o
C —11 , — I — N
, S W =
&> 2 o
W \ / TN - 5 i
| 1 ; = | — O ™
| N Hn_./_ ¥
S | Z g )
< I © mé‘wA._..ﬂ
mW 1 Ll A 1 - — ._VNZ
N
1 f ; HER ;
NN 1) o W8 <
7 RN - , )
T ) I ww_ﬂ s = J N
f =N R ,
| EEN - l W0-.0T
y ] :
I o_o I 4_
| | @ ! ©
, | L_ “ m
_ = —— T |
| | N 1 ;.ﬁ,ﬂ, - |
| 3l T N =
= —
] | el N =
ﬂl.w T T _H _H 7 ] a
i V0T 1 e
| 7 S |
Hﬂﬂ | ® |
7 i !
N | | f
in 7 7 N8 ,
! M_._ 7
7 O i ,
S > e - A 994y 94 /< 0 - T
" | 8 |
N | Q |
, f
S h N -u S 2 A | O U U S " Y Y 1 S i I _
* A= — (@ W i
< = -1 el o Ty N I
w .A__. | | | O 7
N Ve Je0T f —
| 11 8 j .0 -8 %6 J

STRUCTURAL
SECTIONS

CHECKED BY
PROJECT NUMBER

DRAWN BY
MK

DZ
24-113

Scale: 1:48

SECTION

m

ALL CONCEPTUAL AND ENGINEERED DESIGN WITHIN THESE DOCUMENTS MAY NOT BE USED TO ANY OTHER PROJECTS OR PRODUCED IN PART OR WHOLE WITHOUT APPROVAL AND WRITTEN CONSENT OF TAYNR, INC AND SPRAY ROCK, LLC.



g.o" 291" 901" 1 6'-0" 8-8lk" 51"

413" 241" 1-73,10%" \ 32 1-1%" 34l 53 3-4% | 2413 | g-4" .
53" 41" -0"
o | ¢ ’
L A0 L - BT D R
HAETE I o - - —r L Qo o Qo o Qo o —t— H
e e — i = i i Sq1 -
| [ ‘ 'A - i — | T a = E
| \ P \ 0 | Y= : : : L_=dl
| | | | | s - = I
! | | | LT = —
1 ! ! ! - i - o
o 5
| | | 2 xdl s
D \ \ - ™ = S
| | | B 3 ©
] | Il | — 3T .
R gl ] [ M T T 1
| | ! \ . . o ¥
| ; | 1l ; & o 2| :
1 ‘ | 6'-1034" 1-1%" di | < 0 ol || o 0} &
S 107 | 3 : | K0l
- | T = 11 | LM 27 | | Miczosfin | [L107]| | | | [L12g] | | | [L116] | | . i
1 ; | 1BL2 162 1BL2) I I TR m I i | [ — k B Hie21 F ’ ‘ TR
g % ‘ g S g-— ‘ | | (? - - T _\-LL . . ﬁ . . ] . :_'| +11I‘01/2"
_ - | | NJricps) [N [ERN! AlePr | il | il T T | Il i =
i : ; T : : : [+ ———Or—"—-
e | = O | - ] 1 I - :
f B i .
+10-0%" | || || cPa ‘
Il | | i i 0 | 0 | 0 of . 0
H | = : | I | | |
! \
\ \ \ .
Il | o~ | = 1
= e ™ N
| | o < | ' N b =
= \ ~ B N N pn ey
| | ¥ < | = . .
\ \ o \ = =1t pa
\ \ (| \ 1 > | | | |
=" ‘ = L — — | i -
il | 0 0 0 | :
b o ' 0 l = 0 i
P!l \ 0 & 0 oy 0 \ . 0 o} 0
AL | @ - | =
=1l | a ° \ N B +0"
il | [L111] | || L118] o 1102l || |l L103] | | | [L117 . f|| [L119]
S = _ . i | | | e . . . . ; e - I S A
\ \ \ > < =
| | |
1B \ \
1N | | |
Pl \ | \
I \ 1-33" 5-4%" 1'-33)" 2'-113)" 3-4%"  |1-93" 5-9" 1-21y" \
1 \ \ \
4] | | 76" 8-0" 6'-6" 50" 3-2" 483" 6'-111" 4-0" 5" 5-9" 5% 42 5l
T \ 1 1 1
10 | 2-0" | 24'-4" 306"
\
/

® ®© ® ©

1> SECTION

Scale: 1:48

SHEET NUMBER:
DRAWN BY

SHEET NAME:
MK

GHEGKED BY STRUCTURAL
Dz SECTIONS

PROJECT NUMBER

24-113

ALL CONCEPTUAL AND ENGINEERED DESIGN WITHIN THESE DOCUMENTS MAY NOT BE USED TO ANY OTHER PROJECTS OR PRODUCED IN PART OR WHOLE WITHOUT APPROVAL AND WRITTEN CONSENT OF TAYNR, INC AND SPRAY ROCK, LLC.



(2) BACK-TO-BACK 550S150-54
‘ ﬁ E ‘ I - r -« —nr—
\/\ % H I H
. | - _ _ |
% ‘@) 2 | ﬁx \ EL
— e al
— |
——STRUCTURAL FOAM
g g (1) #10 SCREW
/ | HE é% | @ 6" ON CENTER
@ BOTTOM TRACK— EACH SIDE |
’ a N T 0 screw \ S
j ; N ZJT & | \‘ . _ _ f
#10 SCREW ) SIMPSON HEAVY-DUTY %%%ﬁ I — ? —_-
] || TRACK SCREW ANCHOR 4' ON ‘
® ~——CENTER MAXIMUM WITH ;4: i ] o
Z]Jr SIMPSON BEARING #10 SCREWS . ? o o - - }'
‘ | | , \/\ PLATES BP3/8-2 EACH SIDE | e ! |
§ ﬁ STUDS | ‘\ | 722%? O-BACK FCB43.5 CONNECTOR /I !
. il\ib; | EACH SIDE PRE-ENGINEERED TRUSSES
L | o (8) #10 SCREWS @24" ON CENTER - SEE
@ - » -
1T — — — — — '
2 WALL CORNER CONNECTION DETAIL | l; WALL STUDS AL,
] 3"=1-0 R
o o %
#10 SCREWS :T:A‘i D
SIMPSON HEAVY-DUTY — DOUBLE
SCREW ANCHOR 4' ON \/\ EACH SIDE | A | TRACK
CENTER MAXIMUM WITH : \V :
SIMPSON BEARING
PLATES BP3/8-2 DOUBLE ROW
3 #10 SCREW DOUBLE ROW | 4 HEADER CONNECTION DETAIL 6 ROOF TRUSS TO WALL STUD CONNECTION DETAIL
M 8" ON CENTER \ #10 SCREW | \‘ ‘ —#10 SCREW 3" = 1'-Q" 11/2" = 1'-0"
_H\/T _H\/T_ _H\/T_ N | 8" ON CENTER\ |
——#10 SCREW J;TE\\ EH | |
\ | | | | | ? ? | |
| ] TRACK ﬁa @Lj - &
- I N f — S
, 1@» - B s
T ] - A ] TRACK s . g :
e 3 B Fr R
I I Ml B =S (SRS
T 4, h : 2 4 ) % k: AM A:% \/\ o - E‘ E ® >
4 [~ : N . e . | ® [T~
/\/ SIMPSON HEAVY-DUTY { ® © @ N B o
SCREW ANCHOR 4' ON I L - T ?
CENTER MAXIMUM WITH FCB43.5 CONNECTOR / ol N
S"V'E’LSET'\IIES%/;%'/';(; EACH SIDE PRE-ENGINEERED TRUSSES } } | TJC57
- S @24" ON CENTER - SEE
(6) #10 SCREWS o R AT e ol WITH (8) #10 SCREWS
ENGINEERING DRAWINGS SET I }
|
1 WALL CORNER CONNECTION DETAIL 3 WALL TO WALL CONNECTION DETAIL . }
3"=1-0" 3"=1"-0" -~ BEARING BOX BEAM } } |
Nl ‘
D
5 ROOF TRUSS TO BOXED BEAM CONNECTION DETAIL o | PRE-ENGINEERED TRUSSES
11/2"=1'-0" | ‘F\‘ 24" ON CENTER - SEE
I TRUSS MANUFACTURER
L } ENGINEERING DRAWINGS SET
ffffffffffff |
,777@@7@@7477%, A ol TJC57
I | | | WITH (8) #10 SCREWS
| |
PRE-ENGINEERED TRUSSES } } R |7
| @24" ON CENTER - SEE L2.5X2.5X43 MIL o } 3:" o |
| TRUSS MANUFACTURER WITH (2) #10 SCREWS 0 ,
| ENGINEERING DRAWINGS SET B EACH SIDE o TJC37 i AV o
S . WITH (6) #10 SCREWS
| } i‘: ’ TOP & BOTTOM 10, TRUSS TO TRUSS CONNECTION DETAIL
L4 11/2" =1'-0"
axy _ °) } }
- PRE-ENGINEERED TRUSSES
N 24" ON CENTER - SEE |
P TRUSS MANUFACTURER |
(6) #10 SCREWS | ENGINEERING DRAWINGS SET |
EACHSIDE (| . \ \\
| L.2.5X2.5X43 MIL -
WITH (2) #10 SCREWS LIGHT GAUGE STEEL
L _l EACH SIDE PRE-ENGINEERED TRUSSES TTRUSS BLOCKING
. . 1 o7 24" ON CENTER - SEE - |
— P P — . I3 TRUSS MANUFACTURER \ IEREREERRERTER ALSTERRURERR
,{ - — = L Lo/ }| = ~ ENGINEERING DRAWINGS SET RN e X e
‘\ D NET N N\ N N N N N N N G N N Y B N SN
- BEARING BOX BEAM W AN
IR AN
7 ROOF TRUSS TO BOXED BEAM CONNECTION DETAIL 8 TRUSS TO TRUSS CONNECTION DETAIL 9 TRUSS TO TRUSS CONNECTION DETAIL 7 ‘1 \\ N
11/2" =1'-0" A 11/2" =1'-0" 11/2" =1"'-0" ‘ ‘ \ \\ N\ NN
f ' T ‘ | ‘ \x W \ T = 3/4" 0SB SHEATHING
O, L Z : N FASTEN BY #10 SCREWS
WALL STUDS— i DO op ! RN \\\\ R\ —6" ON CENTER ON EDGES AND
~ - - | N 12" ON CENTER AT INTERIOR
 (3)#10 SCREWS i 10 SCREWS g \\\\\ SUPPORTS
| / EACH WEB JOIST TRUSS—l=— | o X N | LIGHT GAUGE
e S, OIO o10 § . A L\ T STEELTRUSS
7777777777777 | / / | AN N
1 sola ﬁ ‘ ) |~ TRuss iR w N
O N oL i
| |
| | LTRUSS BLOCKING
| | 13 TRUSS BOCKING TYPICAL CONNECTION DETAIL 15 ROOF SHEATHING DETAIL
| | 11/2" =1'-0" 11/2" =1'-0"
| |
| | LIGHT GAUGE STEEL
| | TRUSS BLOCKING TOP TRACK —,J\/—,—
| R A R e e N LR ) = pe—— (3) #10 SCREWS / | | (3) #10 SCREWS
i+ 5 - W\ A A4 TYP
- | | . | R TEO RA Y IR RS —y e
5 - - e, D . R . ! SHEET NUMBER:
° s . I ?' ast %ﬁ %Eﬂ | S W o LIGHT GAUGE ] L | @ :::::::::H:
FCB43.5 CONNECTOR A N ] FCB43.5 CONI\éECéI’ORJ*’ T LPRE-ENGINEERED TRUSSES IR NN STEEL TRUSSES ~ ] H S 1 2
/ T PRE-ENGINEERED TRUSSES FACH SIDE @24° ON CENTER - SEE <\ NN N = I {
ar O Conn i AR R ” == oRANN Y
(4) #10 SCREWS—— TRUSS MANUFACTURER (8) #10 SCREWS—— | \ 1/2" OSB SHEATHING SHEET NAME:
P ENGINEERING DRAWINGS SET v | 4 | ) FASTEN BY #10 SCREWS ¢ \ L RNV o DZ
- WALL STUDS— RRVEARRIR VR LRARARARLR AR ARNY R 6 ,PN CENTER ON EDGES AND STAIRCASE b W
AT v NN NN 1S%JP?°T)§$QTER ATINTERIOR FRAMING \WALL sTubs——" | CHECKED BY STRUCTU RAL
\ \ ‘ ! w \ ‘ ! WALL STUD AL AL MK DETA' LS
PROJECT NUMBER
11 FLOOR TRUSS TO WALL CONNECTION DETAIL 12 ROOF TRUSS TO WALL CONNECTION DETAIL 14 FLOOR SHEATHING DETAIL 16 STAIR TO WALL CONNECTION DETAIL
11/2" =1'-0" 11/2" =1'-0" 11/2" =1'-0" 3"=1-0" 24-113

ALL CONCEPTUAL AND ENGINEERED DESIGN WITHIN THESE DOCUMENTS MAY NOT BE USED TO ANY OTHER PROJECTS OR PRODUCED IN PART OR WHOLE WITHOUT APPROVAL AND WRITTEN CONSENT OF TAYNR, INC AND SPRAY ROCK, LLC.



BEARING BOX BEAM
‘ A ‘ WALL STUD —FLOOR SHEATHING
| v | VA BOTTOM | | | I .
FLOOR WEB JOIST A e
sorrom | | | BOTTOM TRACK ROOF TRUSS TRACK | N BEARING <
TRACK | | | F | | | BOX BEAM R
I NI ! ' ' TH IRk | I IR
| 1 \ - - 'E |7 | ~ BOTTOM 0 Q|
| | [T 1 i — a1 TRACK
\ - — . - .
| } | FLOOR WEB JOIST B i = ol O ——(6) BOLTS 1/2
‘ Yk ‘ VA iE e \¥L3x3x1/4"
5 I | | J BEARING _ ' ] EACHSIDE
il e e BOX BEAM o
F/j wALL sTUD— T= V!
WALL STUD s M~ oo ] _
(& - FLOOR SHEATHING BEARINGJ G
© BOTTOM -
#10 SCREWS © (3) #10 SCREW WALL STUD
TRACK g — L2X2X54 MIL BOX BEAM i
o0 @ 24" ON CENTER (- ) #10 SCREWS o[ To =
& 0 ONE SIDE I (4) #10 SCREWS—— — - | I ]
A o . }
****** Tt gt b 3 - 3 BOX BEAM TO BOX BEAM CONNECTION DETAIL
0 - gk | L 3| 11/2" = 10"
o 1] (2) L2X2X54 MIL
STS@I_T_ AT1IE o - e[ T | _——(4)#10 SCREWS
48" ON CENTER o - EACH SIDE
@ o) - A — o[l LGS CoLUMN__ =W FLOOR SHEATHING W
N -1° \ W
? ||
4 4 - (2) #10 SCREW I | | S T i —— u ‘
@ 3" ON CENTER 4 BEARING B []
qu// L2X2X54 MIL As | | BOX BEAM ZVE = el
(8) #10 SCREWS BEARING ® BEARING e 8
BOX BEAM ™ — EACH SIDE ] | BOX BEAM 3 ~ | BOXBEAM ° j’ (20) #10 SCREWS
L | = 4 EREE|
- 5 il . n —J=——WALL STUD
1 FLOOR WEB JOIST FLOOR WEB JOIST Pﬁ M P/j ROOF TRUSS Si== Z | ° " |
7777777777777 ] \ ® °®
o — 4 o ® of |o - d - - o
} = } LGS COLUMN—=— i\ N ﬂ |
(4) #10 SCREWS | |
EACH SIDE
1 WEB JOIST TO BOX BEAM CONNECTION DETAIL 2 WEB JOIST & ROOF TRUSS TO BOX BEAM CONNECTION DETAIL W HANGER L/‘JL/‘J :
11/2" =1'-0" 11/2" =1"-0" HU616
BOX BEAM TO LGS COLUMN CONNECTION DETAIL
4 n ] n
e 11/2" =10
B?;TA%'\Q o o p|l | WALL STUD
il 3 BOTTOM j‘
} | (TRACK B
H | |
.
‘ T ©#§ 'Tgi 1 l
| | | g \/\ T LN }
| | L = ' A
L, ‘ N | . TOP TRACK BEARNG |7 ol
| | I BOX BEAM ~ | o /__ &
BEARING | | } BEARING J SN WALL TRACK - .
BOXBEAM | | | | BOXBEAM #15 SCREWS 2@ | \\ ==
| Y] ‘ - <+ o || am (4) #10 SCREWS - <
e T by
- - ©® ‘ I
T T T o E— BEEN -
WALL STUD—= WALL STUD el L N L
| - | | STRAPTE || 0| 1 | -(4#10SCREWS FLOOR 7
| || - TOPTRACK MSTA15 e 4 TRuss L 1L
—FLOOR SHEATHING v N R '
. | | V—fﬁ
° S + in nel L e WALL STUD— " || . FLOOR g; “
1 T — TRUSS LB
;) i — rTTE
L8 © | | G~ ° CAP MEMBER al -
I 550T150(54) L e &
© © ®
gg\ 2 Km | -‘ | BoLETE o #10 SCREWS ® 1‘1
BEARING ' \7L3x3x1/4" Tl o W
BOXBEAM | RN T g < EACH SIDE ° n N r ‘
T STRAP TIE il
(4) BOLTS 1/2" | © = - MSTA15 | partil
- = (&) STRAP TIE ;:@) | BEARING | _ / o 3oy d
B | ° MSTA15 BOX BEAM FOOR TRUSS NEIWE:
i ] ; " _ - -]
RN TN e e L Y D @ @ @ n _ AR
S 5 ole]]o 4 TOP TRACK bl TOP TRACK =
@ o ® - o |@ o ® LGS POST: A
FCB435CONNECTOR Ao - ¢ - ol =  STRAP TIE MSTA15 - \ BT @—g 7 WALLS TO BOXED BEAM CONNECTION DETAIL v
(8) #10 SCREWS N . WITH = p FCB43.5 CONNECTOR ’ i 11/2" = 1'-0"
EACH SIDE LGS COLUMN——=- (12) #10 SCREWS i 10 SOCREW ~ | =1
0 (8) #10 SCREWS LGS COLUMN
- - ° EACH SIDE n (2) #10 SCREW | || W
- 3 o @ 12" ON CENTER
WALL STUD
W W W NANINANININY BOTTOM TRACK
1O T
5 BOX BEAM TO BOX BEAM CONNECTION DETAIL 6 BOX BEAM TO LGS CILUMN CONNECTION DETAIL © 9]
11/2" =1"-0" 11/2" =1"-0" N
A ‘A' A VA' W VA mh_
A WALL STUDS —~————WALL STUDS
e HOLDOWN WITH L E
— T 3 THREADED ROD PER |
. . SCHEDULE
0 1 \ / (3) #10 SCREWS I | . .
‘ BEARING | _ - . NGl
FLOOR A  OC ] BOX BEAM ~ | e + {* o }
WEB JOIST o 77T 1L < R N § r 7 L T ey -
| | Ml o | % WALL STUDS HORIZONTAL | | FLOOR SHEATHING | |
% - :E H [~ (4) #10 SCREWS 415 SCREWS z@ @Z #15 SCREWS >< /BR NG
| | T | BEARING  _ o ° / \ ,
|y | | BOX BEAM L nn - S 7 - X\Z A - I LIGHT GAUGE LIGHT GAUGE
| | CEIRS ] T >< STEEL TRUSSES STEEL TRUSSES SHEET NUMBER.
FCB43.5 CONNECTOR 2 o
| (8) #10 SCREWS | | STRAPTIE el |e STRAP TIE X-BRACING [~——(3) #10 SCREWS
WALL TRACK t\L EACH SIDE | MSTA15 ol 1o MSTA1S STRAP |
~(4) #10 SCREWS R EACH SIDE of o EACH SIDE L
. | e s - - <+ DI = DRAWN BY
L | COMPLEX COMPLEX  *° ° / \ - AN+ +_  [FU. -+ SHEET NAME:
el | LGS POST LGS POST | . g ) ( ! WALL STUDS - — . D7 :
| | . o \
FLOOR o I STRUCTURAL
WEB JOIST v . . X X CHECKED BY
WALL STUD N4 ) -, = ‘ MK D ETA' LS
” ||
g WEB JOIST TO WALL SIDE CONNECTION DETAIL g ROOF BEAM TO LGS POST CONNECTION DETAIL 10 WALL X-BRACING CONNECTION DETAIL 14, WALL STUD TO FLOOR JOIST CONNECTION DETAIL PROJECT NUMBER
11/2" = 10" 11/2" = 10" 1" = 1'-Q" 112" =1-0" 24-113

ALL CONCEPTUAL AND ENGINEERED DESIGN WITHIN THESE DOCUMENTS MAY NOT BE USED TO ANY OTHER PROJECTS OR PRODUCED IN PART OR WHOLE WITHOUT APPROVAL AND WRITTEN CONSENT OF TAYNR, INC AND SPRAY ROCK, LLC.



	Sheets
	S0 - COVER SHEET
	S1 - STRUCTURAL FOUNDATION PLAN
	S2 - FIRST FLOOR WALL FRAMING PLAN
	S2.1 - FIRST FLOOR CEILING FRAMING PLAN
	S3 - SECOND FLOOR FRAMING PLAN
	S4 - SECOND FLOOR WALL FRAMING PLAN
	S4.1 - 2ND FLOOR CEILING FRAMING PLAN
	S5 - ROOF FRAMING PLAN
	S6 - STRUCTURAL SECTIONS
	S7 - STRUCTURAL SECTIONS
	S8 - STRUCTURAL SECTIONS
	S9 - STRUCTURAL SECTIONS
	S10 - STRUCTURAL SECTIONS
	S11 - STRUCTURAL SECTIONS
	S12 - STRUCTURAL DETAILS
	S13 - STRUCTURAL DETAILS


